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Topic:- Child Development & Pedagogy (CDP)

1) The method used in memorizing poetry is called:/ Hfqdr o1 qlq A A UYgdd faftr =1
CaJREIGIET

1. Massed learning / a?; YA 9T 31T
2. Distributed learning / facier fRver

3. Serial memorization / ShfHeh JEHAIOT

4. Paired Associate learning / ?élj?ﬂa' Wﬂ' iR

Correct Answer :-

¢ Serial memorization / 9hlrd\-|°h {-i{-rH{UI

2) Strong believers in the ‘Language Relativist Hypothesis’ argue that AL
groerarardt uReerHT ' ®  weiga fayTRial &1 9k § fF

1. Language determines perception / 3TTST aTeT &Y TR ST &1

2. Language determines thought / {TST fa9R & fAeTRT T &1

3. Language influences memory / HTST THIOT rfFd &l T Xl g |
4. Language influences thought / Wﬁﬂﬂaﬁqaqﬁﬁaﬂ?ﬂ'%l

Correct Answer :-

« Language determines thought / 31TST fa=T &r faeTRa AT &1

3) You are helping a mother to develop a behavioral program to deal with her son Raj who has
oppositional defiant disorder. Which of the following is the MOST significant component of this
program?

/ 39 TP AT B U 92 I A FAueq & e ver sqasR srdwpd faafa s A ugg ;W §,
IS B IR fethe fewans 31 fRufaf@a # @ 19 91 39 FrieH &1 9ad Agayul yedh
?

1. Strict parenting / ¥%d TR



2. Detention / TRy
3. Positive reinforcement / HhRTcHR WUT
4. Punishment / {31l

Correct Answer :-

o Positive reinforcement / HhRIcHD g AETLY

4) An individual who is lacking in achievement motivation would exhibit J TR

g A We ey A FA ¢ ag _ weRia som
1. Self-assurance / TH-HTYN™A

2. Pessimism / faRremarg

3. Pragmatism / STAgRAIE,

4. Positive outlook / GPRIcHeE ETSCahIUT

Correct Answer :-
« Pessimism / A02mare

5) Planning in inclusive education should be followed by . | gHETAA AT F Frer
Ca) & GaRT grelel foram S =nfgwl

1. Recapitulation / AR-hYeT
2. Evaluation / #eehet
3. Implementation / SrATeadsT

4. Assessment / 3TTeholeT

Correct Answer :-

« Implementation / HAT=aTT

6) The RTE Act was enacted in the year: / IRAS AT =9 a¥y & BN fpaT T o
1.2010
2. 2008
3.2011

4. 2009

Correct Answer :-



7) ‘Jack is a below average student in mathematics’. Which of the following tests would best
support he above statement?/ st AT # tH FASAR o 1 AEfaf@a F F wle ar
AT IYNFA FUST FT Fafedd FAAT FLal 82

1. Intelligence test / ﬂ?\'ﬁf gI&ToT

2. Aptitude test / 3-1@77[1%' gI8ToT

3. Achievement test / 3Telfet] GI&ToT

4. Skill based test/ ShITeT 3T IT&TOT

Correct Answer :-
« Achievement test / TSIl G{I&T0T

8) In Pavlov’s famous experiment with the dog, what was the term he used to describe the food for

which the dog naturally salivated?/gﬁ' & 91T ggeld & m g ﬁ,ag qeg HisT AT
o1 fIHT 3TANT 37 ST FT a0 FA & AT fFAr ar=ar o1 G fAw Fan
FAHIAF T F R TIFHET AT?

1. Unconditioned response /WW @Iﬁm
2. Neutral stimulus / dCE 5C\\Cc\\lhldn

3. Unconditioned stimulus / TaTHTTdH 3@%
4, Conditioned stimulus / ﬂﬂaﬁﬁ B@W

Correct Answer :-

« Unconditioned stimulus / EITHTIdeh 36419

9) How many pairs of source traits did Cattell identify in his theory of personality? /

S0 ¥ IO cufRded & Rquid # W TEOT & Fraet I R@Tw?
1. 16
2.32
3. 14

4.22

Correct Answer :-



10) Teacher eligibility test is an example of which type of test? / f¥&Teh graraT Tdiator fvg 9K
& qIaTor T TFH 3R §?

1. Aptitude / FfAeTar
2. Creativity / W@ﬁﬂ?ﬂ
3. InteIIigence/ﬂ?\jﬁ'

4. Personality / ST T&dcd

Correct Answer :-

e Aptitude / FfAIETar

11) may affect a child’s social development. / , 9T & FHATS®
e F gafda FT dFar gl

1. Asthma/ 3TEJHT
2. Chronic Illness / gTIFﬁ' AT
3. Allergies/ Toloit
4. Eating habits/@'lﬁf &r e

Correct Answer :-

¢ Chronic Illness/w AR

12) In a learning friendly environment, the following characteristics are present except ./
HIH F TF IeTFe AT H, & 3ramar Arafaf@a Rdvare sufeaa g

1. Learner autonomy / f1&Treft &1 Tara=ar

2. Multi-disciplinary approach / ag—ﬁm TTeahIoT
3. Teacher monitoring / fT&Teh FI THAIRTAT

4. Flexible process / CEICIRCIET ]

Correct Answer :-

 Teacher monitoring / RESEG IR GG

13) In a language, the smallest unit that signifies meaning is called / TedY sareT ﬁ', g H
i arell HEH B SHE HY FgT ST gl

1. Phoneme / TdTAH (PleilH)
2. Syntax / aTFT earg (RReea)



3. Word / 2Ts¢, (d3)
4. Morpheme / Sy pep= (J:ﬁ:fﬁﬂ)

Correct Answer :-

e Morpheme / Sy lep= (ﬁ'cﬁ?zl')

14) Which of the following statements best explains ‘intrinsic motivation’ in the classroom practice?
| Fafaf@a # § Fl9-81 FYT FaT WA A 'HARF WOM' F FGA 3T aE I0TF FI@T
&

1. The teacher encourages autonomy and gives choices to the learners to reach their goals. / f1&Te
FATIAAT T AcqTfed AT & 3R Rt w1 3% oeat o ggaa & v e gar
J

2. The teacher uses praise and appreciation of a child’s work. / {167 ST & HIH FT TIEAT 3R
AT HT E

3. The teacher gives a short break to have snacks and water. / [1&T&h =TT IR gl i & foT T
BT s &dT ¢l

4. The teacher provides rules and conditions to complete the task. / 16Te cop i) ERU A & fov
e 3R e yareT S g

Correct Answer :-

+ The teacher encourages autonomy and gives choices to the learners to reach their goals. / T8
FAIAAT P AR AT & AR R Fr 39 qe2t g6 9go= & v fadeq &ar
gl

15) Which of the following is not a part of the process of memory? / farafaf@a & @ a9

wfa i afear &1 e a8 ¥
1.Storage/34?>TTUT

2. Retrieval / JeT: gifea

3. Encoding / E'FI'EI'?I%E’T

4. Motivation / SO

Correct Answer :-

« Motivation / YOI

16) Which of the following is not part of the quantitative prerequisite for Continuous and
Comprehensive Evaluation? / ¥ad Ta &am9& Hedidd & fav Arafaf@a & a1 Amrcas qardem

&1 fewwm adt @2



1. Classrooms / She&TTq
2. Schools / ﬁ?‘?:l'l?-ﬁ’:l'
3. Teachers / TA&Th

4. Curriculum / YToIshH

Correct Answer :-

e Curriculum / YTodshH

17) Which part of memory involves forgetting unnecessary information in 15-25 seconds? / Fﬂ_ﬁ

¥ fFa amr F 15-25 Q3 A HAGRTF AGHRT F A ST afAeT 32
1. Long term memory / Gre-ahTellel FF‘I_ﬁ

2. Sensory register / Tdgl IoEex

3. Working memory / Tefel T

4. Short term memory / Tg-ShTellel THIA

Correct Answer :-

 Short term memory / ﬂ"g’—ﬁ?ﬁﬁmﬁ

18) Infants develop stranger shyness by the age of ./ fﬂ'{l; # 37 dF IoATea d
e a1 aw REfaa wa

1. Three months / T FgIaT
2. One year / Ueh a¥

3. Nine months / 5t #gY

4. Six months / B8 #Fglal
Correct Answer :-

« Six months / B¢ Helel

19) Deductive method proceeds from : / faIsIcA® R 59 YR & &
1. Examples to illustrations / 3GTgI0T T TSerar &1 3R

2. Law and rules to observation / hlefel IR AT & gt Fr 3R

3. Specifications to generalisations / TTHTEATEHIOT o afaca & 3R

4. Observation to examples / 3l 3ale Ul Fr 3R




Correct Answer :-

e Law and rules to observation / W 3-ﬁT IGRE ﬁ 3Tdellehed hr 3'ﬁT

20) What is the term used to describe the strong bond between a mother and her child? / At 3R
3F T F €T AT FUT FT qUIT I F A0 FH aeg w1 39ANr BFFAr Fwar
e?

1. Love / 9o (o)

2. Security / JI&IT (GERET))

3. Maternity / HTcJcd (FIAEN)
4. Attachment / HHFAT (37¢THT)

Correct Answer :-

« Attachment / HHT (37¢THT)

21) What type of intelligence would be used when trying to navigate through traffic? / gﬁﬁF )

AfdIe FI H1 FIRAT FIT AT FW TFR A1 50 F1 397097 fFaAr swan?
1. Interpersonal intelligence / IRAITFAR ﬂ?\:ﬁa'

2. Intrapersonal intelligence / AR TFdSh WT

3. Spatial intelligence / I IEET §@'

4. Naturalistic intelligence / qlﬁfﬁm ga{f*ér

Correct Answer :-

« Spatial intelligence / EJIIEG g@

22) Hereditary factors begin their influence right from the time of of the child./ aangw?r
FRF qod & F AT @ IHYAT WHT YE FA B
1. Development / f[a&hrd

2. Growth / aﬁ@'
3. Conception / I
4. Early years / IR &8 ay

Correct Answer :-

« Conception / I



23) Constructivism assumes that all knowledge is: / TITAIG I8 AT ¢ &% @oft 7 et

&

1. Constructed from the learner’s previous knowledge. / forefreff & q‘\éTJIT-ﬁ AT o AT
2. Constructed solely by the learner. / foraTrff GEIRY saer fafFa

3. Transmitted to the learners by the teacher. / foT&Te CaRT fRremreft v 9T

4. Acquired solely through personal experience. / SITFIITT 3ie3a & HATEIH ¥ had grod fohar
83T
9

Correct Answer :-

« Constructed from the learner’s previous knowledge. / fgTeff & qﬁar—ﬁ AT & AT

24) According to Kohlberg, child may question the social and political beliefs
of the parents and elders in moral development stage. / Flgadd &
3TTHR, T, _ e Ryere wor o anveln- e 31k awt By @t
3R TR AT IR T T aHaT

1. Post-conventional /W—W

2. Formal conventional / TR IRURe
3. Pre-conventional / T:i’-qlTQﬁTﬁ

4. Conventional / IRIRR

Correct Answer :-

« Post-conventional /W—W

25) How will you calculate average marks of students? / 319 st & 3itad 3l
&Y IA0TAT FH FLA?

1. Geometric mean/ [SAMATEH AT
2. Variance/ 98I0T
3. Standard deviation/ HATIeh ATeleT

4. Arithmetic mean/ 3iaTOIg 3frad

Correct Answer :-

. Arithmetic mean/ 3fhariOIa 3iaa



26) Generally, all classrooms will have diversity. Identify the dimension that does not present too many
problems related to diversity.

/makw,mﬂa?amﬁﬁﬁﬁﬂma?ﬁlwmaﬁmﬁsﬁagam
fafauar @ wafta #& awemst F veqa 7@ Fwa B

1. Cultural background/ w—?ﬁ% tlc:%"ﬁiﬁf
2. Geographical status/ e Tufa
3. Social beliefs / ATATGIR HATIATT

4. Athletic ability/ g€ Jragcrd

Correct Answer :-

» Geographical status/ o afa

27) Which of the following is a child's attribution to success? / fFafafad kK|
ThAd & o TP 9= $1 fAuang g2

1. Consistent focus on Learning/m U RITAR €T shigd T
2. Random focus on self / @8 TR &0 dhigd HIAT
3. Maintain worksheets and notes / ®TIUF® (ddhRite) 3R Aeq AR HAT

4. Believe in luck / HTT TR Iy &A1

Correct Answer :-
e Consistent focus on Learning/m U TIMAR €T higd AT

28) As per Cognitive Constructivism, learning is a result of: / HATACH® TIAEIG & AR,
e AT &1 v gRumA §:

1. Behavioral and Collaborative responses / cddgiX 3R ggaeeAs wfafkare
2. Assimilation and Accommodation of structures / TXTATIT &l TATeleT 3T MA@
3. Extrinsic and Intrinsic reinforcement / EI'I%'& IR AR HOQ AETY!

4. Reward and Punishment of actions / chlidlé bl QIEDPR IR E3

Correct Answer :-

o Assimilation and Accommodation of structures / GITATHT T AT 3T AT

29) Which assessment measures student’s performance against a fixed set of

predetermined standards? / a#hmngﬁmq\éﬁu&ﬁama;wﬁﬁwﬁz#m
BT & Ygeie S ATIAT 8?2



1. Norm-referenced assessment / W-ﬂ'alﬁa X ICING!
2. Criterion-referenced assessment / AT s-Aeiid 3fTehelel
3. Diagnostic assessment / EAIGE G

4. Achievement assessment / 3YCITSY ST 3Teholel

Correct Answer :-

« Criterion-referenced assessment / maagﬂafﬁ?rm

30) Radha asks her students to make their own questions and write their respective answers
for a chapter. A student in which stage of cognitive development benefits most from the

implications of this task? / YT 3T BT ¥ 37 U g TP A A Y 791 3R
IY Hafdd IR for@q & fie w81 | U 9, I9ATES 9™ & fPa R d 59
1] & fAfgard Q a9 siftre arvnfad glar 82

1. Sensory motor stage / TAGT ACT 37aTUT

2. Concrete operational stage / H\T—cf AiharcA® 3aTm

3. Formal operational stage/3—ﬁ'q?-lTﬁT=F FicharcHs 3aEaT
4. Preoperational stage/qr'\é‘f AfehdTcHs 3aTar

Correct Answer :-

« Formal operational stage/3—ﬁ'cl€|'lﬁ_°F TihdTcHe 319EdT

Topic:- General Hindi (L1GH)

1) 3 I e A weAT B, A 98 Fud te ) Wy A uewiad it B, stet w i ik
SieifRpd 8 9 | A SR U] & HaY P a1 af 3T @Y, I Hell BT WRER ey off aga wewr g, o
SR A 3refidd i@ 39 §... TR, 7, UeTS, Us.... 10w ¥ fhg oru siarefdel § 9 U shdd ufderar o1
W,WW?&W@WWW%?IWWWWW%W%TW%EW
IUHTUN & ufer g A SRUTRT B U B 9 e, S Ay B AR, iR Tl srayrRom F 9g4
A 41?2 T YRT BT BIg VAT BT 8, ST IHTI, WETHR 3R GRS HU13if & Weftes 7w Ft v
Site &t srdfa U # Herae 81 gld? Ul U yws H il gon fd U e | 3ruA g1 &1
A& HIaT 8, Al I8 T8) GG 81 HHAT &, T3 N $I 48 W HRPpfd & Hfa-TUe 3ifPpd 38 3|
TRR &Y gd §Y I adl, 7! &7 Wl $3d € $IE FA, TeTe W Ted §¢ i UR1ire g $t siadbur
9 teRIg 8§, o9 IR #eu 7@ g &9 U= Sha=1-arn &1 did-amn & ufvoa & a4 71

3refid & 39 & ufey a8 WraAT 3y 3 & oft I o it N, STET 3W-U9 BT TG WY TPl 3R WWRT
Tt AT A FST AT I IRIBIapt B e 'R 31 a1g ot B, o v urm gt &1 v o ve
i 3 ygd AT B, 3R 39 U7 § UiRp w9 & IR ° ol $O U IR UHE $Yd 7, 3 TH 3ig
mmmmﬁﬁaﬁwm'@z%la@mﬁ%l wﬁwﬁ%%?ﬁgﬁﬁm—mﬂmﬁ%m%uﬁr

TR 3R Pl Tggd gidl 3 Afe § "y W wear § fo | et ot Fiaa wv sro=m 3=

et %ﬂﬁqﬁwa@mqﬁm%m%gﬁmﬂaﬁwwmﬁuﬁvmmm
St SR A, AR g & g1l | fam U1 2eg giRp & €, orun SR e IRMT F IR #, Afpa 36 o
ufd &1 T a1 urfifer smary feng 3an 8, foraw ev fadere, Mt srfde oiv T #t wra=Tt wfaeafa
Bt GATS el B, St S61 THY-HY W ER UTAIFAY & 91d URd-YfY & ufa uwe 3t ff



STYeR T B UGS A1 D T U PT SR A15¢|

U: ARPIaDt 31 e BT U v i 3t fpasT v ugas gAman 32
1. faATar-faders

2. HINITITHY

3. e AR

4. qf¥ehe

Correct Answer :-

2) XM Tfe 3T Pt geAT B, <t a8 Rk v Wit Ipfa # yewfad gt ], w6l | ok i
Siaifepd g 9 | A SR U] & HaY P a1 dF 3T @Y, I Hell BT WRER ey of aga mewr g, o
SHWR A 3reftdd fe@rs 3d §... TRR, 7Y, UBTS, US... oMU ¥ g orum siaxfae & 3 e oftda ufdsar &1
W,WW@W@WWW%?IWWWWW%WWWT@I%EW
IUBVI & Ui g A SRUfRT B e B 5 fean, S Iy 3 ARger, SR Saivt sayRun | 954
A 4T? T URA BT HIS TAT BT 8, TG U], WETHRA MR TRTOMS Hutsit & Wedtes asa & 3ruA
sfte Y sredfan ur # HeTad TE g1d? U TP YES W Sian gt sufR U US| 30 g B
TENH0T BT &, a1 T8 T§1 HHT §1 HPHdl g, T8l Y DI 3§ W HPid & Wfd-¥Id 3Hfbd 78d 7
TR &1 Zd §U PIS 3adT, T} HT W= Ha & FIS WfA, UeTs W ged g¢ frdt NRifore arn 3t siadbar
A yeRIE 8§, oM IR ®eu 7@ g &9 U=t Sha=1-arn &1 did-amn & ufvoa &3 a4 §1

el & 9 & ufay g8 WraAT 3y 3w & oft I o et N, STET 3W-U9 BT TG WY TPl 3R WWRT
Pt Wi A ST 4TI g3 aRP At &) v R @Y arg ol 3, R v ura g1 &1 v oA T
i 3 ygd AT 7, 3R 39 U9 § UiRp w9 & IR H Wl $O AU IR UHE $Yd 7, 4 TH 3eid
WWWW@EWWE‘E%IT&'W%I 'TH AGD g & ATd Gt -3 oA I & ufa
Ted 3 3R HA1 HEGW it § AP & Wiy @re? Fean § [ & bt oft Fivwa w s &
ot 3R =1 | ST TeaqT Agm | 7 € 3uA I & i B At g faer § ufvra weAn g,
St SR A, AR g & g1l | fam 311" 2reg gfRp & €, orue SR e IRMT F IR #, Afpa 36 o
it &1 T Ta1 urties smam &g 3an 8, orad & fadwrig, ft srfde ok Wi ot wramne ufaeafta
Bt gATS Sl B, St S6I THI-HY W ER UTAFAY & 91d URA-YfY & ufa uwe 3t ff

ST TR H) UgHR 1Y YD T U BT I«i¥ qad13¢|

WT: SUI 981 fbw v & ufy srrefigar A 3wy o o far
1. Qr-amdy

2. IETATAT

3. G&pfd

4. Tehic

Correct Answer :-

3) YU AR 31T F1 weAT 8, ot 98 Rt v RN Wwpfa # yewfad gt 8, sTel e iR whar
SqTifRrd 8 TF | A 3R UY P ey B} aTd d) e ), S Al BT WER oy ot 9gd T ), §i
FWR A 3reftdd fe@rs 3a §... TR, 7dY, URTS, Us... U ¥ fbg orum siaxfas # d e oftda ufdsrar &1



R4, TP aRE @1 Ui WA T80 &% Ad € | I8 T 7w HUNT 4T i UR gt upfa & 39 ey
IUHTON & U NG 7 SRS B UG B 9 e, | Ay B AR, SR Tl S@yRom A 954
g 41?2 1 YRA &1 BI$ VHT HIHT 8, ST IHTIUT, WETHRA 3R GRS FYUT3i & Wl A F1 3rqA
Site @t e U § Herae € gld? afe TP yWs H il g Afdd U e # 3(uA g1 BT
TaefiHruT HXdT 8, df 98 I8 JUT g Thal 8, Tl I B 35 W Ipfd & Wfd-wya 3ifdpd 3gd g1
TRR $I T U DI adl, T8 BT WY XA § DS |, TeTS W I gY bt IRifore arm Y siadbar
Y vefug 8, o9 R FeH Tad g 89 3l sita=-ar &1 df-amn & uftue «7 aq €1

3rfta # =1 & ufer gg W 3= 3= # oft 3 S Wl N, STET SR-UW BT TR ey WP MR WRT
Pt WA A ST 4TI G aRP At o fred 'R &Y arg o1l 3, R v ura giRe=1 &1 v 3u+ T
i &Y ugHR FATET 8, 3R 39 U # YR T & R U O 9 U ISR Ydhe HYd 3, 4 TP 3oid
e P e I e g 81 a8 R €1 "t d@® 817 & 1 g3 s-lt e 3w & ufa
el geraec SR Hgdl HEHH gl ¢ Afb A WRIY WIS Hedl g (b # fbwt Ht Haa W 3o=r o
freft aiR 31 & T Ie AE I T @ oA A% & SRe @) fedt g sfiera A uRur wAT ATg,
S 3R A, W g & g1l A o 311" 2reg iR & €, oA A1 'HeR IRMT & IR H, Afpa s A
T &1 T 1 i emarH fiwrs a1 ®, R g9 Raerig, Mt srfdg ofk wiieh &t wraamd ufaafa
Bl 1S 3t B, °t S8R THE-THY R X HIEHIY & 91y YRA-YfY & ufa yae ot off

ITYa TR HT UgHR 12 I T YA BT IR Ja1g¢|
U IR & 3 frad IR A 32

1. 7R

2.9 foeaT

3. STHeAT

4, Hex IMrar

Correct Answer :-

o HeY AT

4) 3 I 31T P} geAT B, ot a8 Rith v ¥ Wepfa # wewfaa gt ], et A ok
SIRFd 8 U | A 3R U & Y B a1 oY 3T g, 37 Aol &1 R Tay off 9gd T80 8, <
FWR A 3efidd R A §... TRR, 7dY, UeTs, Us... MU # firg orum siaefael & 3 v shiqd ufasrar &1
R4, TH a8 1 Y1 W1 Ug0r &% Ad € | I8 T 7w AN AT i UR 98’ upfa & 39 Sefig
IUBVI & Ui T A SRUfRT B e B 5 fean, S Y 3 ARger, SR Saivt sayRun | §gd
A 41?2 T YRA BT BIg VAT BT 8, TET IATI], WETHRG 3R GRS HU13M & Wl A Ht (v
Site &t e U § Herae 81 gld? ufe U yEs H il gon wfdt U e | 3ruA g1 &1
YAEHHRUT BT &, < IE d61 HY §1 TPHdT §, S8l W DI 48 W ARpid & Wid-&Id 3ifdhd 7w 71
TR $ Fd §U BIS 3adl, A4} &7 TR HId 8 HI3 WA, TeTS W ded g¥ S TRIfIS arsm &1 siadbun
A yeRig 8, oM IR #eu 7@a g &9 U=t Sha=1-arn &t did-amn & ufvoa &3 a4 71

refia & 9 & ufey a8 WraAT 3y 3= # oft I o et N, STET IW-U9 BT TG0 WY TPl 3R WWRT
Tt I A ST 4TI g3 aRP At &) v R oY arg ol 3, R v ura g1 &1 v oAt
it &Y ugHR FATAT 8, 3R 39 U # IR T & R W o) $© U SR Ydhe HYd 3, 3 TP 3oid
WRE BT TeAfA® 39y fire gu &1 98 fored €1 " a@® g1 & A1d g9 -3t ore 3z & wfa
Ted 3 3R Ha1 HEYW it § AP & Wiy @rH? Fean § 1 & bt oft Fiwa w s dw
fpaft 3R =1 | &Y TeaqT Agm | = € 3uA I & i F At g gfaer § ufvra wear agm,
S 4R A, A g & g1l A o 311" 2ree yfRr & €, v A1 'HeR IRMT & IR H, Afpa 37 I
yfea &1 uw T urfifes smarw feams 3an 3, o g faawrie, it srfdg ok feh #t wta=d ufaeafa
Bt gATS &l B, ot S6I THY-HY W ER HTAFAY & 91d URA-YfY & ufa uwe 3t ff

STYT TR DI TGP A1 IS TT Y BT IR qaATS¢|
UL YRA-YfA & ufd fadere, ft srfde oix i Ft wram frass w1y e g3 82



1. G} HTETAY

2. AT ik
3. WElgsfd &

4. Fgfora @
Correct Answer :-

. TR HEEAY

5) A TS 'areT B wear 8, @ 98 R v Ut wepfa A yewfad a6 2, wef | ok wyfer
Siaifepd 8 9 | s SR U] & TaY P a1 af 3T @Y, I el BT WER ey off aga wewr g, o
FWR A 3reftdd fears 34 §... TRR, 7dY, TS, US... U ¥ g orum siaxfae & 3 e Sftda ufdsrar &1
ﬁwwmﬁmmmwaﬁﬁlwwmmm%mwm%ﬁm
SUSRIT & Ufet TRITG = "SUIRT BT UTaT Y o fea, Sit 7y &) Hoger, 3R Tatof sy | 9ga
A 4T? T URA BT HIS TAT BT 8, TET IHT, WETHRA MR RIS Hutait & Wedtes asa & 3raA
Site &t srdfa U # Herae 8 gld? ufe U yws H ofidr gon sfd U e | 3ruA g1 &1
UeftwRur wedn 8, df a8 98] UG g TPl 8, el YN Bl 38 W Gpid & Wa-=Ia 3ifdpa vgd T
TRR &Y gd §Y B adl, 7! &7 Wl $3d € SIS VA, TeTs W Fed §¢ i Uk g $t siadbur
A yefIg 8§, oM IR ®eu 7@ g &9 U= sha=-arn &t did-amn & ufkoa &3 a9 §1

el B =1 & Uiy g5 WraAT o=y 3= # oft A o1 Tt i, SR I1-UT FT R WY TPl SR TWWRT
T WA A FST AT I IRSBIat B e 'R 31 a1g ot B, Forad v urm gt &1 v o vas
it &Y ugHR FATAT 8, 3R 39 U # YR T & IR W o) $© U SR Ydhe HYd 3, 3 TP 3oig
mmmwﬁﬁaﬁqmgﬁla@mﬁél wﬁw@ﬁ%qﬁﬂéﬁm-mﬂamﬁ%ﬂ%wﬁ

TR 3R Pl Tggd gidl 8 Afe § "hiy Wi wear § fo | et ot Fiaa wr sro=m 3=

ot wﬁqﬁwa@nmﬁm%m%maﬁwmgﬁmﬂﬁmmm
S 4R A, A gdt & g1l A o 311" 2ree gfRpa & €, v A1 'HeR IRMT & IR W, AfpT 379
ufd &1 T U1 unfifer smary feng 3ar 8, foraw e fadere, Mt erfde iv T Ft yraTt wfaeafya
Bl 1S 3t B, ot I8 THE-THY R TR HIAIY & 91y YRA-Yf & ufa ybe o1 ff

ST TR BT UgHR A1 TS TT YA BT IR Jarsq|
UR: Y B 35 TR TPpid & F1 3ifPpd 3gd 82

1. Tfd-Tge

2. o died

3. FAT T

4, AG-9ad

Correct Answer :-

6) XM Tf 3T P T B, ot 98 Rt Vel Sy # vewfaa €1t ], wiel | ok wfar
SRFd 81 9 | I 3R U] & Y B a1 aF e I, 3 el &1 R oy off 9gd 8w g, o
S & Ieiiad fe@rs ¢d ... URR, 7dl, UgTS, US... 3ud ¥ firg oru= siaxfaef # 9 uop Sitda ufasrar &1
Tﬁﬁ,wmaﬁm%ﬁwmwaﬁ%lwwmmmﬁvwﬁuﬁwﬁr%ﬁm
IUHRUN & Fid @ A ArufeR B e & 5 g, St Iy 3 AReR, 3R ISl sayrRon d 9gd
g 4T? T URA BT HIS TAT BT 8, TET U], WETHRA MR TRIFMS Sutsit & wedtes asa &) 3ruA
Siia @1 srdawr UM § Here T8l gid? afe T y@s o Siar goi afed U P § 3 g1 3T



TN HaT 8, A Tg I8! HHT 81 Pl 3, STel Yd Pt 38 W TPpid & Wfa-Ta sifrd 3ed B
TR B T U PIE a1, Tl BT Wl $3 & $$ WA, UeTs W 9¢a g¢ frlt dRifdres arn &Y siadhur
9 1efE €, O W) $er TE@d 8§ &H Ut shiaq-arn &1 fid-aren # ufvord &3 aq 2

el B =1 & Uiy g WraAT 3=y 3= # oft A o Tl A, BT I=1-UT FT MR WY TPl SR GRWRT
Pt WA A ST 4TI g3 aRP gt o) v R &) arg ol 3, SR & urs g1 &1 v oA v
i 3 ygdx AT B, 3R 39 U9 ® UfRp w9 & TR H o $9 U IR UHE $Yd 7, 3 TH 3eig
WE &1 reAfae I fi gu €1 98 forad 81 "T@ aus g1 & A1 g3 t-ft orm 3w & ufa
Ted 3 3R Ha1 AEGW it § AP & Wiy @i Fean § 1 & et oft Fiva w s &
ot 3 31 & 1) e Arg | 7 € A I & sfaerd B fhet g sfery A uftora s g,
AR A, WY gdS & gTUl H faar 311" 2y YiRp & €, 31U+ SR 'HeR IRMAT & IR W, AfpT 396 o
ufd &1 T a1 urfifer smary feng 3ar 8, foraw e fadere, Mt srfde oiv T Ft yraTt wfaeafa
Bl 1S 3t B, ot S8 THE-THY UR TR HIAIY & H1Y YRA-Yf & ufa ybe ot ff

ST TR BT UgHR -1 IS TT YA BT Ik Jarsq|

URH: T Y@s | oftar gen safaa Fafafaa & srom 89 &1 ycuefiewor owar 32
1. T 39HT

2. T foq

3. T 3HehR

4. Ueh ®Uh

Correct Answer :-

e Ush &

7) =MW GfS "3 B geAT 8, af 98 Rk ver ¥t wpfa & yewfaa gidt 8, Siel w0 oik g
SRFa 8 9 | I 3R U] & Y B I1d aF e I, 3 el &1 R oy off aga 8w g,
SHW q Ieiiad fe@rs ¢d ... URR, 7d), UeTs, US... 3mud ¥ firg orvm siaxfaef & 9 uo Sitdaa ufasrar &1
R4, TP TRE B! Y1 TaeT Tgur &% dd &1 T8 T Heol JaIT AT i gUR T81 Upfd & 34 meiig
IUBVN & Ui g A Ul B HraT B o fean, ot 1Y 3 AR, iR Wil sy | sgq
A uT? T URA BT HIE THT BT 8, SI8T IAY], ETHRA 3R RIS HUT3i F Welld AT HY 3
Site @t e U § Here € gld? afe TP yWs H ofidl g Afdd U e # 3(u4 g1 BT
Ta&fpRu1 T 3, A UT TG HHA B AP T 8, STel Wil BI 48 W WPpd & Ffa-we 3ifbd v8d 31
TRR P T U DI adl, T8 BT WY 3a § DS |, TeTS W I gY b IRifdre arm Y siadbar
W vefug §, o9 R Feu Tad g 89 3l sita=-ar &t df-amn & ufturg «7 ad €1

3reld # 31 & ufa ag yraH 3w 3= A off & o Tt <ft, STeT TW-UW BT 8T ey TPpTA 3R URuRT
Pt Wfa A JST 4TI Y3 aRSBIgw! @1 fibed 'R @1 a1g ot 8, R var ur yfie=1 &1 ux1 o v
i 3 ygds gATET B, 3R 39 U ® UfRp w9 & TR # ol $9 AU IR YHe HYd §, 3 TH 3oig
e P e I e g 81 a8 R €1 "t d@® 817 & 1 g3 s-slt erom 3w & ufa
Ted) Sferamee 3R Hedl Hegd g1d) 8 Afe & WNiy Wi beal § 1 F fHf ff Hva W o 3w
et 3iv 3T A TS TaaT AEI A € o A F shverd P Rt g sfer A uRure SR A,
S S9R A, W g & gl A o 3n1” 2reg iR & €, oA A1 'HeR IRMT & IR H, Afpa 3 A
wfeT &1 U TuT Ut amarw e a1 8, R & e, ot erfdg ok i Y Hraamd ufaeafa
gl 1S It B, ot S8 THE-IHY UR Y HIEIY & 91y YRA-YF & ufa yae ot o

ITYe TR BT UgH 19 IR ¢ U= HT I«iX gd15¢|

URA: 3reftd § 4% & Ui Tt wraen Frafoea Rt | oft 3wt 5wt 6t 2
1. gl TRT

2. 3 =T



3. 3 grIedrdr

4, 3 2l

Correct Answer :-

o 3T cat

8) 9w Tfe '3MTeHT P weAT B, i 9 R ue Wt Geopfal § wewifad gt @, el e ok =iy
Seifard gt 9 | A SR U] & TaY P 91 dF AT TEL, I dell B RER day off ga e g, o
SHWR A 3feftad fe@rs 3d §... URR, 7dY, URTS, US... 3Mud ¥ g o+ siadaei # d e oftda ufdsar &1
W,WWﬁWWWW%%IWWWWW%WﬁW%EW
IUHRUN & Ufe T A IRUTRT B HTaAT B T e, S AP B AFeR, 3R Aol srguren | 9gd
AT 4T? T URA BT D13 TAT HIAT 8, 9T IUGYI, TTHRA 3R TRIIS HU13f F Uelled A H1 310
Site 1 e U § Herae € gld? afe TP yWs H il g Afdd U e # 3(u4 g1 BT
UaefiHruT HXdT 8, df 98 981 JYT g Thal 8, Tl I B 35 W Tpid & Wfa-wya 3ifdpd 3gd g1
TRR P T U DI adl, T8 BT WY A § DS |, TeTS W g gY bt IRifore arm Y siadbar
Y vefug 8, o9 R Fen Tad g 8 MUl sia=-ar &1 df-amn & uftu #7 aq €1

3rfta & =1 & ufer gg Wi 3= 3= # oft 3= S Wl i, STET SR-UW BT TR oY WP MR WRT
Pt WA A ST 4TI G aRP At o fved 'R &Y arg o1l 3, R v ura giee=1 &1 v 3v+ to
it &Y ugHR FATAT 8, 3R 39 U § YR T & R U O $© U ISR Ydhe HYd 3, 4 TP 3oid
WRE BT neATfde Ay 1T gU §1 98 fored €1 " aw® g1 & A1d g2 f-waft e 3w & wfa
Ted Sferamee iR Bedl HegH gid! @ Afh # ANiY W bedl § 15 A fHd ot Hvd W g 3w
freft ok 31 & T Ie ATEI 7 @ oA A% & SRie @) et g sfera A uRvr s ATg,
S $47 A, A gd & g1l A foum 311" <ree YfRpa & €, 3rua A1 'HeR IRMT & IR ¥, AfFpT 37 I
mmwﬁwmmﬁ@?aﬂ%ﬁmﬁzﬁﬁﬁmﬁmsﬁmﬁaaﬁ?ﬁsﬁaﬁwmwﬁa
Bl A8 3t B, °t S8R THE-IHY R TR HIEIY & 91Y YRA-YFT & ufa yde ot off

ST T H TGP 2 TD MY U $T I qa1FE|
UL U3 9GS Bl UTH dW@H & U U U ¢ & Ufd R Tg9H gleit 82
1. 379X 9H

2. 3R SEHT

3. ggTemge 3R FHga
4. 5% of ol

Correct Answer :-

« glsTaTEe 3R e

9) XMW T "THT P} "eAT B, d a8 Rith T R depfar § yewfaa il B, wret | ok fr
Sieifapd g 9 | A SR U] & TaY P a1 dF AT L, I Hell BT WRER ey off aga e g, o
FWR F 3eligd i@ 34 &... =R, 7dY, uErs, Us... 3muw # fibrg oru siafae # § uw Sitad ufasrar &1
ﬁwwmﬁﬂmmmmﬁ%%lwwmmmﬁ?mwm%ﬁm
SUHRVI & Ufet TG = "SUIRT BT UTaT1 Y o fa, Wit 7Y 3} g, iR HHiof srqeron & 95
g 4T? T URA BT HIS TAT BT &, SGT AT, WETHRA SR TRTOMS Ut & el AT &Y 3uA
Site @t e U § Herae 81 gld? afe TP WS H ofidl gon Afdt U e | 3(uA g1 1
TRENHU ST 3, A I8 Ig! AHA B TPl 5, ST81 YA $1 48 W APl F Wia-RIa 3iferd 54 &
TR B Fd §Y DTS 4adT, T4l BT R $Xd 81 PIs Ffa, TSTS WX g gU Pt GIRIIOrep AT Y St
Y Uefug B, o R FeH TEd g 8 MUl sita=-ar &1 df-amn & uftug &7 aq €1



3rld ¥ 31 & ufa ag v o A= A off A& o Tt <ft, et IW-UW BT 8T HaY TP 3R uRuRT
Pt Wfa A JST 4TI Y3 IRSBIaw! o1 fibed 'R @1 a1g 3t 8, oRid var ur yfi¥e=1 &1 7 o v
i 3 ygds FATET B, 3R 39 0T ® UfRp w9 & TR # ol $9 AU IR YHE HYd 7, 3 TH 3oig
e P e I e g 81 98 R €1 "t d@® 817 & 1 g3 s-lt erom 3w & ufa
Ted) Sferemee 3R Hedl Hegd g1d) & Afe & WNiy Wi beal § 1 F fHf ff Hva W o 3w
et 3iv 3T A TS TaaT AEI A € o A F shved B Rewit g sfeT A uRure SR A,
S S9R A, W g & g1l A o 311" 2reg iR & €, oA A1 'HeR IRMT & IR H, Afpa 3 A
Ui &1 U T urfifer omam fears a1 8, R oW fadere, Mt erfde 3k wiish #t i ufaeata
gl FA1E It B, ot S8 THE-IHY UR X HIEIY & 91Y YURA-Y & ufa yde ot off)

ST TR BT UgHR A1 I T YA BT Ik Ja1gC|

TR UF WD ¥t G & g U+ I T FAT Ag1 HAT AT8AT?
1. QIR &H&AT

2. SeoTal

3. 3T

4. Ueatr

Correct Answer :-

10) =M TS 3T B TeAT ¢, A 98 b ve Wit wwpfa # yewfad it 8, Stel 0w ik wyfar
Seifapd g 9 | A SR U] & WaY P 91 dF AT T, I Hell BT IR Jay off ga e g, o
SHW  3eiiad fe@rs ¢4 ... URR, 7d), UeTs, Us... 3mud ¥ firg orvm siaxfael # 9 us Sitda ufasrar &1
R4, TP aE @1 Y1 YdeA1 Tgur &% Ad &1 T8 T HeSl WA AT i gUR U8l upfa & 34 el
IUHTN & Ufer Mg 7 SRUTRT B U1 B 9 e, S Y B AR, R Tl sy A 99
A 41?2 T YRA BT BIg VAT BT 8, TET IATIT, WETHR 3R GRS HYUT13M & Wl A7 Ht 3
Site @t e U § Herae 8 gld? afe U yWs H ofidl gon Afd U e | 23U g1 BT
TIETPRUT T 3, A UT TG HHA B APT o, el Wi I 45 W APpfd & Ffa-wa 3ifbd v8d 31
TR B Fd §Y PIS gadl, T BT T X 81 D5 W, UTS W ded g fonell ORI A 31 siaehar
A yeRrg 8, oM R #eu 7@a g &9 U=t Shta=i-arn &t did-amn & ufvoa #x a4 71

rdfta A 3 F Ul gg wiaw 3g i F o T o1 wpdt N, et TU-UH BT eI Ay WP 3R WU
Pt WA A ST 4TI g3 aRP At & v R @Y arg ol 3, iR v ur g1 &1 v oAt
fira &Y ugHR FATET 8, 3R 39 U # YR ¥ & IR U o $© U ISR Ydhe HYd 3, 3 TP 3oig
WRE BT AT HS IHY fIT gu §1 98 fored €1 " a9® g1 & A1d g3 -3t ore 3z & wfa
e} PereTec SR Hgdl HEHH Il ¢ Afb A WRIY WIS Hedl § (b # fbwt Ht Had W =1 o
fopeft 3R 31 & Y TqerT AE T @ 3w I P SRIET B b g gfieT A U S ATE,
S 4R A, A g & g1l A o 3n1” 2reg gfRw & €, v A1 'HeR IR/T & IR H, Afpa 3 A
HfFT &7 U YT uTfife omamw s a1 8, e &8 Rdere, M arfiq ok wiisht &t e wfaeafa
Bl 1S 3t B, ot S8 IHE-THY R TR HIARIY & 91y YRA-YfY & ufa yae ot ff

IUYE TR BT UG 19 IR T U= $T @R Jad1s¢|
U: AE@d & forg =T FaT 72

1. 3ITcHAT T =T

2. GTATTST Team

3. TSlellfden TeaT

4. fitanforen gErea



Correct Answer :-

o 3TcAT FT gear

11) SRWY I 31T FI "geAT 8, 9 98 R e Tt Gpfar A yemfad it 8, siel '@ oik wgfar
Siaifepd 8 9 | s SR U] & TaY F a1d aF 3T @Y, I Hell BT WRER ey off aga mew g, o
SHWR A 3reftdd fe@rs 3a §... TRR, 7dY, TS, Us... U ¥ g orm siaxfae # 3 ue sftda ufdsrar &1
Tﬁﬁ,wwaﬁwﬁﬁmmwaﬁ%’lwwmwwwﬁ?muﬁwﬁ%ﬁm
IUHTUN & ufer g A SRUTRT B U1 B o9 g, S Ay B AR, R Tl sy d 94
g 4T? T URA BT HIS TAT BT 8, TET U], WETHRA MR RIS Hutait & Wedtes asa & 3ruA
Site &t e U # Herae 8 gld? ufe U yws H il gon fd U e | 3ruA g1 &1
TENH0T Bl &, A1 T8 Tg1 HHT §1 HPHdl 5, T8l Y DI &5 W HPid & Wfd-TId 3Hfbd 78d 7
TRR &) gd §Y B adl, 71 &7 Wl $3d € SIS VA, TeTs W Fed §¢ i Uk arn $t siadbur
9 ueRIg 8, oM IR #eu I@a g &9 U=t Sha=t-arn &t did-amn & uftoa &3 a9 |1

el B =1 & Uiy g5 WraAT o=y 3= # oft A o Tt i, SRt I=1-U9 BT TR WY TPl SR WY
Tt A A FST AT I IRSBIawt B e 'R 31 a1g ot B, Forad v ur gt &1 v o wa
i 3 ygdx AT B, 3R 39 U7 § UfRp w9 & IR H Wl $9 U ISR UHE $Yd 7, 3 TH 3eid
mmmwﬁﬁaﬁqm@z%la@ﬁﬂaﬁ%l wﬁwﬁﬁ%qﬁﬁéﬁm—mﬂmwawﬁr

TR 3R Fgdl Tggd Tidl 8 Afe § "hiy W wear § fo | et ot Fiaa wv sro=m 3=

foet %ﬂﬁqﬁwa@nlqﬁm%m%?gﬁgmaﬁwmgﬁ?mﬁmmm
St SR A, AR g & gl | fam U1 2reg gfRp & €, orum 3R e IRMT F IR #, Afpa 36 o
ufea &1 ua a1 urfifes smarw feams 3an B, o s fawrig, it srfdg ok witeh #t wta=d ufaeafa
Bt gATS St B, ot I THY-HY W ER HTEFAY & 91d URA-YfY & ufa uwe 3t off

ST T BT UgHR -1 TS TT YA BT Ik Jarsq|
TR: WS P ARB G| B {54 fen 3t arg 3wt 32
1. ST aTeh

2. A

3. gl ew

4.3 &1 G 3T

Correct Answer :-

12) WY I 31T F "geAT 8, 9 98 b v Y Gpfa #f yewfaa gt 8, siel W ik wyfar
Sifard g 9 | AT SR U] & Y Pt 91d A 3T T@t, I diell &1 R day i aga g g, o
FWR A 3reftdd RS 3a §... URR, 7dY, 1S, Us... 3 ¥ fbg Srm siadfas o 3 e sftda ufdsrar &1
wwmﬁmmmwaﬁ%lwwmmmﬁ:mmwﬁ%ﬁm
SUBRIT & Ufer I = "GIUTRT BT UTaT1 I i fear, a’ﬁg{aﬂ@w 3R FHIvf @R | §gd
g 4T? T URA BT HIS TAT BT 8, TET U], WETHRA MR TRIRMS wutsit & wedtes asa & 3ruA
Sfte Ft a1 U # AETaS 81 §1d? Ul U yEs H Sitdr gt sAfed U "wush' H 30U g1 1
YIEf 0T Xl 8, df 98 I81 JYT g1 TBal 8, T8l I Bt &8 TR Ipid & Wid-wya 3ifdpd 3gd §1
TR $ Fd ST DIS 3adl, A3t BT WRT B 1 D3 Wi, U8TS W ged gY fHdl TRIfIG arsm &1 siadbun
9 Uefug §, o9 R Fen vad §U 893Ut sita=-ar &1 dtdf-amn & ufturg &% ad €1

et ® 31 & ufar gg utaAr o=y A= A off T w1 wap et oft, BT S-UW BT TR WY WP 3R WWRT
P WA A ST 4Tl g3 aRP gt B b R @Y arg el 3, R v urs gfie= &1 v 3vA v
i @) yge GATaT 8, 3R 59 U # gfTpd T9 & IR # ¥l $O U1 SR Y I 8, 9 Th 3efig



WRE BT TeAfA® 39y fiT gu §1 98 fored €1 " a@® g1 & A1d g5 -3t e 3z & wfa
e Sferemee 3R Hedl Hegd B1d) & Afe & WNiY WP Hedl § 1 F fpf off Hua W o 3=
fpeft 3R 37 & €Y SqeT AR 7 € AR 3% P SRiE o) et g SfeT § OO SR aTg,
St SR A, AR qdS & g1l | fam 311" 2eg giRp & g, U SR e IRMT F IR #, Afpa 36 o
HiFT &1 TP T Ui amam fewars a1 8, R g Rdere, ot srfdg v wiisht & wra=md ufdeafa
Bt GATS &l B, St S6i THI-HY W ER UTAAY & 91 URA-YfY & ufa uwe 3t ff

ST TR H) UgHR 1Y ID T U BT I«i? Ja1g¢|

W IHRIVT, HETYRA 3R TRIOMS HU13fi & et 1 U § g1 gid 82
1. Sfaet T 3rear

2. 3R FqoTET

3. GHATHTISRAT

4. gferar r FgT

Correct Answer :-

o Siider T 37dadr

13) XMWY I 31T F "geAT 8, 9 98 b e Ut Gpfa A yewfad gt @, siel '@ 8ik wgfer
Sffapd 8 T | ISy 3R U] & Y $I 914 df 3 Igt, I9 Aol &1 WER Fa¢ off Igd Tev 8, <
FW  3eiiad fe@rs ¢4 ... URR, 7dY, UeTs, Us... 3y ¥ firg orva siadfael # 9 us siidd ufasrar &1
R4, T o8 $1 YIS HIGAT Tg0T I A § | I8 T HE HANT AT {5 IR g1 Ui & 3 Sl
IUBVIN & Ui g A SRUfRT B Ura B 5 fean, S Iy 3 ARger, ok waivt sy | sgq
A 41?2 T YRA BT BIg VFT BT 8, ST IHTIT, WETHR 3R GRS HUT3it & Wl A Ht 3
Site Bt a1 U # AeTaS 81 §1d? Ul U TS H Sitdr gt sAfed U "wush' H U g1 B
TefteRur Hedr 8, df a8 981 UG g APl 8, el YA Bl 38 W GPpid & Wfa-RIa 3ifdpa ved 7
TRR &Y Fd §Y B adT, 781 &7 Wl $3d € SIS VA, UeTs W Fed §¢ fHd Uk arn $t siadbur
o9 Uefug §, o9 R Feu vad §U 89 SuHit sia=-ar &t dtdf-amn & ufturg &% ad €1

el B =1 & Uiy g WraAT 3=y 3= # oft A o1 Tt A, SIET I=T-UT BT MR WY TP SR TRWRT
P WA A ST 4TI g3 aRP gt B e R &) arg ol 3, R & urs gfiRe=1 &1 v oA v
i @) Yge GATaT 8, 3R 59 U9 # gfTpd T9 & a1 # &l P U1 SR Y I 8, 9 T 3efig
e &1 refde Iy fi gu €1 98 forad 81 "U9 aus g1 & A1 g3 st-wft orm 3w & ufa
e} gereree 3R Hgdl HeHYH BIdl ¢ b A WY WL Hedl § [ A fHal W e W 3o 37
et 3t A7 A TS Taar AE I A € o A F shverw #) Rt g sfieT A uRora s A,
S 4R A, A gd & g1l A faum 311" 2res iR & €, v A1 'HeR IRMT & IR H, AfpT 379 I
ufeRt &1 ua T urfifes smarw feans 3an B, o a9 faawrg, it srfdg ok witeh &t uta=d ufaeafa
gl FATE 3t 8, St I8 THT-THY UR Y HIAHIY & |1y YRA-Yf & ufa e o1

ITYE T DI UgH +1d ID TT U HT S@X qad1sC|

W= 330 R Wpfa A ueafda gt @ wet Pt i siaffea 8t 2

1. ol 3R ag

2. Fell-Alfgcd

3. 79w AR w\ia

4. 39qer Tl

Correct Answer :-



14) =TV Fie ST B GeAT §, a1 98 fah ve Ut wxpfa # yeafad gidt 8, Siel | ik =y
Sieifepd 8 9 | s SR U] & HaY P a1 af 3T @Y, I Hell BT WER ey off aga mewr g, o
SR A 3refidd 3T 39 §... TR, 7, UETS, Us.... 10w ¥ fhg oru sierefdel § 9 U shdd ufderar o1
Tﬁﬁ,@ﬂﬁﬂﬁhﬁ%ﬁﬂﬂéﬁ%l%ﬂ%ﬁ@hﬂﬁ?ﬂﬁﬂﬁ%%ﬁ@ﬂﬂ
IUHTUN & ufer g A LRUTRT B e B 5 e, S Ay B AR, iR Tl sayrRom d 9ga
A 41?2 T YRA BT BI3 VFT BT 8, STET IATI, WETHR 3R GRS HU13i & Weftes A Ht v
Site Y e U # Herae 8 gld? Ul U yEs H il gon sfdt U e | 3ruA g1 &1
A& HIaT 8, Al I8 T8] GG 51 THAT &, T3 N $I 48 W HRPpfd & Wfa-Tue 3ifPpd 384 3|
TR ®) Zd §U PIS 3adT, 7Y T W= Ha & FIS WfA, UeTs W ged g¢ frdt NRifore arn 3t siadban
A yeRIE 8§, oM IR #eu I@a g &9 U=t Sha=T-arn &t did-amn & ufvoa & a9 §1

refia & 39 & ufey a8 WraAT 3y 3w # oft I o it N, STET 3W-U9 BT TG WY TPl 3R WWRT
Tt AT A FST AT I IRIBIawt B e 'R 31 a1g ot 8, Forad v ur gt &1 v o ves
i 3 ygdx AT B, 3R 39 U7 ® UiRp w9 & IR H ol $9 U ISR UHE $Yd 7, 4 TH 3ig
Wﬁ&ﬂiﬂﬁﬁﬁ*ﬂﬂﬁlﬁ@?lﬂ?mﬁ%l wﬁwﬁ%%ﬁgﬁmﬁmﬁmﬁ%m%uﬁr

LEEIk IR Fgdl Tggd Tidl 8 Afe § "Ry Wi wear § fo | et ot Fiaa wv sro=m 3=

et %ﬂﬁﬂﬁma@nlqﬁm%m%wﬁ%maﬁmﬁ;ﬁﬁ?ﬂﬁmmm
St SR A, AR g & gl | fam 311" 2eg gfRp & €, orum SR e IRMT F IR #, Afpa 36 o
e &1 ua 1 urfifes smarw fams 3an 3, o g faawrig, it srfdg ok e #t uta=d ufaeafa
Bl GATS el B, Wt S6I THI-HY W ER UTAFAY & 91 URd-YfY & ufa uwe 3t ff

ST TR DI TgHR -1 IS TT Y BT Ik Jarsq|

U SR A F1 fe@rs & aret el T Wy RER TG0 812
1. STHATA

2. groTad

3. TShHUTTOT

4, 3TSiad

Correct Answer :-

15) =M FfE 3T B geAT 8, @) 98 fah ve Ut wwpfa & yeafad gidl 3, el W iR g
Seifard g 9 | A SR U] & Y P 91d dF 3T TET, I dell B IR day i aga e g, o
SHW F Ieiiad fe@rs ¢d ... URR, 7d, UgTs, US... 3mud ¥ firg orvm siaxfaef & 9 uo Shida ufasrar &1
Tﬁw,wmaﬂmﬁﬁﬁﬁﬁmmﬁﬁﬁlwwmmmﬁ?muﬁm%ﬁm
IS & ufe g A SAUTRT B UG H1 o1+ e, S Ay F AR, R Tl sy J 94
g 4T? T URA BT HIS TAT BT 8, TET U], WETHRA MR TRIRMS wutsit & wedtes agsa &) 3ruA
Sita @t e U # Here €l gid? afe TP yTs | offdl g Afed U e # 3(U4 g4 B1
Ta&fpRur T 3, A UB B HHA B AP T 3, STel Wiliel BI 48 W APpd &b Ffa-wIe 3ifpd v8d 31
TRR P Fd §U DS 3adl, At BT WRI B § D3 Wi, U818 W e gY fHdl TRIfre arm &t siadbun
9 Uefug §, o9 R Feu vad g 89 Sl sita=-ar &t dtdf-amn & ufturg «% ad €1

refta & 331 & ufar g8 vt o= A= # oft I 1 wardht i, et -0 BT TR HerY WPl SR WY
P WA A Fo1 4Tl g3 aRSIaw! B fben R @) arg el 3, R ue ursr giRe &1 v 3vA v
i 3 ygds FATET B, 3R 39 U7 ® UfRp w9 & TR # Wl $9 AU IR YHE $Yd 7, 3 TH 3oig
WRE BT TeATfd® Ay 1T gU §1 98 fored €1 " aw® g1 & A1d g3 -3t orm e b wfa
et gigraee 3R Hgdl AEGH il @ AfH A Wiy @R weal § 5 A fre ot Fea w sroen 3



ot 3 31 & 1) e argm | 7 € A I & sfaerd &) feedt g sfery # uftora s g,
AR A, WY gdSl & grUl | faar 311" 2y YiRp & &, 31U+ SR 'HeR IRMAT & IR H, Afp 376 o
ufd &1 T U1 urfifer smary fang 3ar 2, foraw e fadere, Mt srfde oiv T #t yraTt wfaeafya
Bl g T €, i ST THT-IHT W TEY WG & 91y WRA-YfA & ufd uee @t o)

ST TR BT UgHR -1 IS TT YA BT Ik JarsC|

TR: URR, T, UgTS, US U+ Siawfael # o1 U5 a7 A 82
1. T T

2. FIfAS deaTl

3. %o o gl

4, AIfAS G

Correct Answer :-

. A& FASAT

16)

39 AT §Hd ST H

el AT 9 W & AA-T% AT

# T TTAT ST ST §

o & 9§ Qe e

@Srdr § drhar diae #1 93
@rordT § 8T g3

3R Fefer 1 @relt et Stel & A
e e T

R & AF= g fae W arer A F wEed 7
U AT SFATE
IRA R IR e WA

T ) W AT SHAFIAT

7l AT T & W1 §

U $T u€ W@ &

ugt T FT T E

o & Re & @it ug Sl § g
S FHed FT AT AT F aAler §
S Fer@ FT AT 1Y A Aer §

3} I 39T F & At Wewensit



IR g

F47 I § A |W?

AT 9gd FA § TFER T

3T IeT 9T=Y ST 3T @1 T

AE HR A HI$ A= ST F @ H

T 7T ggir A g AT qF T S WA F 3ca” TARTI
TReT: §X R TH W NS A1 @ W A3 HY R awE gdan 82
1. TSRT 3T

2. HTHAT g3

3. SEABIAT F3HT

4.ao-|“naT§34T

Correct Answer :-

17) 39 T 99 g §

oIg1 A T 7@ § TA-T8 7T

T SRR IRAT Y ST §

T g oTd € R fAmm

QT § a1l diud 1 98
FIoldT § &81 §3 TR

3R T &1 @1l gHST 8l | 918
o1 AT g

5 g1 g a1g fomT 31 a1) i & BIesd 31
TR YT STl
IRAR IR TE WIS

T AT |

T G TR 3T SHHBTAT

I51 AT F© 97 V61 3
REEACRI

el Wi &1 4T e

T § 7 & R v St @ gf
SR 9 BT 7T UaSTS S dleT §
Y ARG T 7T UGl Bl AT §



34 I8t SUT o g AT Wew@ersi

3R gt

T G ¢ ¥ WR?

THY 9gd $H § TR U™

3T IS U BT 3T BT DT

G YR o DI T6aHT HW I 38 BT

o T veriw @) vegw R U@ 9H ard U= $T IR 9a1s¢|
WA: 3T IS YT BT 3T XET B’ & BHRUT I T SHIIG Hl 32
L §TH & PS5 QT

2. UG YR o HIS Ggalell IR F GG

3. IS 3T TR dAh GG &

4. S 3T W A IAT8 & &

Correct Answer :-

¢ ARG TR o FS TEl IR T W

18) 39 ¢ qHd 3T H

g1 A § T8 § TA-T8 Wbt

T 3RIR T Y ST §

T ¢ oTd € R

Fioar § arddr diud &1 1S
WISl § ¢81 §3 R

3R T 1 @l gt wigt | a1
LEEIKIR:

5 gt g a1g fomT 37 a1) |l & BIed BT
W YT FHHST

IRARWIRTE WAS

Tq AT §

1 G W IR SHHABTAT

TET A $O T @1 8

AT PO e T

Tl Wi 1 H_aT e

T g fort § Qi v Selt @ g
SR 9 BT T UGS DI AT §



T RIRG BT 7T UIGH Bl AT §

34 I8t SUTT f g AT WeweT3i

3R g3t

RIS A W2

YUY §gd $H & TR U™

3T =l UT-T 8T 3T 6T pTH

G YR o DI T6AHT SW I 38 BT

o 1T veriw @) vew R U@ 9H 9rd U= $T IR 9a1s¢|

T: T BT T Uaers’ 3R THRG BT 471 UTSH BT dier | 1 U 32

1. AT # cllea

2. AT d1g Stear

3. HETAR T JANT

4. B H oltear

Correct Answer :-

.« AR TG dtear

19) 39 AT §HA S H

el AT 9 W & AA-T% AT

# T AT T AT §

o & 9§ Qe e

@rSrdr § drbar diae #1 9%
@rofdT § 8T §3 X

3R sefer @1 @relr gweT Stel & A
o o 7

R & AF= a1g e T arer A F wEF 7
U AT SHATE

IRFA R IR v Wi

T Q) W AT SHEAFIAT

7l AT T o W1 §

VA TT TC W@ &

Tgl TAfY &1 s g

wF @ e # et gz Srelr ¥ gfaar



S FHed FT AT AT F Aler §

S Fer@ Fr AT 1Y A et §

3’9 I 39T F & exaren ewensit

3k ot

FT I8 § @ W?

AT 9§ HA § TFER I

3T AT 9T SFT T T@T IHFH

ARG THFR o g TET SR F W@ W

T a7 gezmer A g AR @ I a9 FT 3caR qaqsvl
wee: Y & Afass F S W e & 37 @y F4r v 82
1. d Il ATT gl

2.9 FU1ad gl

3.9 WA U5 T

4.9 91@r ¢ S gl

Correct Answer :-

. 3 O g A §

20) 39 AT qHd FATH A

el AT 9 & & AA-T% AT

# AT TET S ST §

T & S § Qe e

@ISt § drhar diae $1 93
@ISTell § 8T 3T W

3R Fefer @1 @relhr gweT StEt @ A
o o

A Y 7w a1g faar 1 a A F GeF #w7
U AT gHATE

INARIN RIS

T &Y O AT SHABIAT

Tl A T a9 W §

VA F6 T T ¥

ugt T FT AT G



wF @ foer F el 9z anelr ¥ g

S FHed FT AT AT F Aler §

S Fer@ Fr AT 1Y A et §

T I 3UT & g gIarem @ewenit

3k ot

FIT I8 § @ W?

AT §gd HA § TFER I

3T AT 9T S§T 3T T@T IHFH

AE THFR o FI§ TgAET I T 3T@ =

T a7 gegrer A g AR @ I a9 FT 3caR qa@SC
weeT: Ffa UF o 9IS AT &7 o 3 FA T 3T 87

1. fd I9g Il ST &

2. 39 H PG QT

3. %fd & [99R d¢a JATar §
4. T TE T HT AL §g Il

Correct Answer :-

21) 39 AT IHd Sad A

el AT 9 W & AA-TX AT

# IFET T S ST §

T & S § Qe e

@ISl § drhdl diae #1 93
GrordT § 8T g3 W

3R el 1 @l gwsT SEt ¥ A’
o o

Y QY #wwe 915 faar 1 e e & $eF w7
W AT gHATE
INA RN F A

T QY B T SHABIAT

el A §T 9 @8

VA $T 9€ W@ &



7§t T FT T

wF @t foer F Qe 9z aelhr ¥ g

S FHed FT AT AT F Aler §

S Fer@ Fr AT 1Y A et §

I’ I 39T F & exaren wewensit

3k ot

FT I8 § @ W?

AT TgT FA § TFER I

3T AT 9Tl S§T 3T T@T AHFH

AE THFR o FI§ TEAET IR T 5@

T a1 gegrer A g AR @ I a9 FT 3caR qa@1SC
wee: FiAar & Pl § W& et F1 sedw frar = 32
1. shael YI9eT &7 U5

2. hadl ollg I =T Jerarely 9C

3. Al GgT g3 FHIT

4. 39qer Tl

Correct Answer :-

22) 39 AT SHA FAF H

el AT 9 & & AA-TF FATT
orEr & 9§ Qe e

@rSrar § drear diae F1 9%
@rodT § 8T g3 W

3R Fefier @1 @relr gweT Stet @ A
o o

T & AF a1 faar W ae A F Gew ;T
U AT gehAfer
INARINF WA

T ) W AT SHEAFIAT

7 AT T o @1 §



VA F6 T T ¢

7§t T FT T

F @ foe F Qe 9z anelr ¥ gfar

S FHed FT AT AT F Aler §

S Fer@ Fr AT IRt A et §

3T I8 39T fF e AT @ewensit

3 ot

FT I8 § @ W?

AT §gd FA § TFER I

3T T 9T S§T 3T T@T IHFH

ARG TFR o g TET IR F 3T

T a7 gerer A g AR @ T a9 FT 3caR Ta@SC
9ee: Ffd & SH FiAdl A ‘THI Y FAY A 31T FAT SART FAT 872
1.3 B¢ I & HI 4

2. Ty WX o e 3R Atad @e g @

3. I Grgex & 30T dR a2

4. T 3 STl & HROT

Correct Answer :-

+ STedl W o [Aes 3R Algg @ g &

23) 39 AT I9d S H

el AT 9 W & AA-T% AT

0T & 9§ Qe e

@rSrdr § drhar diae #1 9%
@rofdT § 8T g3

3R el F1 @l gwsT SEt ¥ A’
o o

R & AF= a1g e W arer A F wEeF F;
U AT gehAfer

INARINF R A

7 @Y 8T 3T SHABIET



Tel A 36 9 W@ ¥

VA F6 T T8

g w1 s

v @ R & quelt gz Sl § g

S FHed FT AT AT F Aler §

S der@ T AT et A et §

I I 39T F & AT @ewensit

3 gor

FT I8 § @ W?

AT §gd FA § TFER I

3T IT 9T SFT 3T T@T HFH

ARG JFR o g TEA SW F W@

T a7 gegrer A g AR I AW a9 FT 3ca Ta@SC
YoT: AT qH FATH A FY TEAT FA oA 1T 87
1. iR el gge=l AT 7 g

2. i IET el ST B

3. Hfd AT & T g

4. %fq @ fGamHd giem &

Correct Answer :-

24) 39 AT I9d Sa¢ H

el AT 9 W& & AA-T% AT

# IFET AT T AT §

o & S § Qe e

@rSrar § drbar diae #1 9%
GrofdT § 8T §3 X

3 T F1 @relt gwsT et F and
g o

R & AFE 915 faar @1 T AR & weF F
U AT geRAfer

INA | IR v WIS



IqT &Y BT 3T SHABIAT

Tel AF 36 9 W@ ¥

VA F6 T T ¥

g w1 s ad

wF @ foe F et 9z anelt ¥ g

S FHed FT AT AT F Aler §

S der@ AT et w Aler §

T I 39 F & AT @ewensit

3 oy

FT I8 § @ W?

AT §gd FA § TFER I

3T T UTAT SFT 3T T@T HFH

ARG JFR o F§ TET IW F 3T

T a7 gerer A gt AR @ T a9 FT 3ca Tq1SC
geel: AY IHd ST # VAN AT &g 3T 87
1. 370 ¥ HI5 g

2. TA-TAX APl I ST &

3. 7 gl & S §

4. 51S OSH &1 ST &

Correct Answer :-

o TA-TAY AR g IS

25) 39 AC S8 FAF H

el AT 9 W & AA-T% FHTT

# T AT ST ST §

o & 9§ Qe e

@rSrar § drbar diae #1 93
@rofdT § 8T §3

3R Fefier @1 @relr gweT Stel @ A
e o T

R & AF= g faa W arer A F wed 7
U AT gehaAfer
IRA RO v WA



T &Y O AT SHABIAT

el U T 9 W §

VA F6 T T ¥

g A 1 s Ad

& & R & @it gz St § gfaar
S gHed FT AT gAHS H WAler §
S der@ T AT et # Aer §

T I 3 F & A @ewensit

3T T 9T SFT 3T T@T HFH

ARG JFR o FI§ TET IW F 3T

T 7T gerer A gt AR @ T aTr G FT 3caR TS
UeeT: 39 Hfaar & &4 & Fw Qgaar i 3 @Fa fFar 2
1. 9T gRade

2. GHI H HHAT

3. 30g%d # ¥ FS AL

4. 9T 3R 3RTeTh Feora

Correct Answer :-

. A9 3R 3RS FEaEa

26) 39 AU ¥Ud FATH A

el AT 9 W § AA-T% FHTT

orar & S § @ favener

@rrdr § drbar diae #1 93
@ISTell § 38T g3 W

3t sl @1 @melt gaeT STet & and
o o 7

R & AF= g fae W ar e A F weF 7
U AT gehAfer



INARIN F RIS

T QY B AT SHABIAT

Tl A T a9 W@ ¥

VA F6 T T ¥

ugt T FT AT g

& & Re & @it gz St @ gfaar

S FHed T IAT gAHS F Aler §

S dermE T IRAT HIST Y @dler §

T I 3 F & A @ewensit

3 qor

FT I8 § @ W?

AT 9gd FA § TFER I

3T T UTAT SFT 3T T HFH

ARG JFR o FI§ TET IW F 3T

T 7T gegrer A gH AR @ T aTr 9T FT 3caR TS
ee: & AFE 91 T WA dig & $Ied H 87 fhdar 931 91?
1. @O

2. gehAfTaT

3. 9§ 3T

4. Sgd oIeT

Correct Answer :-

27) 39 AT 99d ST H

el AT 9 W & AA-T% FHTT
T & I § e e

@rSrdr § drhar diae #1 93
@ISTelT § 38T g3 W

3 e F1 @relt gwsT et @ and
o o 7

P &Y AP a1¢ Qa1 T aT A F BleF F



U AT gHATE

INARIN RIS

T QY B IR SHABIAT

el A T a4 W@ §

VA F6 T T ¥

ugt T FT AT E

S @ e & quet gz S @ gfaar

S FHed T I gAHS H Aler §

S dermE T IRAT ST Y wler §

T TG 3UT T e Sarem @edensit

s o

F4T I § A W2

AT 9gd FA § TFER I

3T T 9T SFT 3T T@T HFH

ARG JFR o FI§ TET FW F 3T

few v ggzmer F weE AN @ AR I TR F 3] IASC
W T8t O F0 a1 IR F6 U< @1 ¢ sAfav frwsr o a¢1 fwar sm wwar?
1. A3 &

2. THfA &1

3. 91T I

4, o T

Correct Answer :-

28) W U ¥Hd FATH A

el Ut o @ § AA-a Fhrer
T & 9§ e e

@rSrdr § drhar diae $1 9
@ISiell § T8 §3T W

3 e F1 @l gwsT et @ and

TS AT A



Y QY wwe 915 faar 1 T e & GeF #w7
W AT AT

IRA | IR v WIS

T QY B IR SHABIAT

T A F6 a9 W@ §

U $T u€ W@ &

75l T F1 AT AL

wF @ R & quelt gz el § g

S FHed T I gAHS H Aler §

S demr@ T AT et A Ater €

I’ I 3T F & AT ewensit

I g

F47 I § A W2

AT 9gd FA § TFER I

3T T 9T SFT 3T T HFH

ARG JFR o FIg TETE FW F 3T

ffw v ggzmer F TeE AN @ AR I W F 3] IASC
weeT: 3 # Ffa F U FIT 3UT § AT 87
1. gX cXdTal &l @eweld &l

2. 9199 dic S &

3. Bl &l T

4. SR & 9T qSa AT

Correct Answer :-

o §{ S{aTal I WeEeld &l

29) 9 U ¥Hd FATH A

el U & W@ § -1 ADTT
T & I § e e

@rrdr § drhar diae #1 9
@ISTell § ST §3T W

3k e F1 @l gFET ET ¥ A’



o o
T & AF a1 faar W ae di F Gew 7

WX AT gehaAfer

INARINF WA

T QY B AT SHABIAT

7l AT T o @1 §

U $& u€ W@ &

Tgl T F1 s AL

T @ e A et g3 Sl @ gl

S gHed T I gAHS H Aler §

S @ T AT et A et €

T I8 39T & e Sare @edensit

I g

F4T I § A |W?

AT 9gd FA § TFER I

3T T 9T S§T 3T T@T HFH

AE HR A HI$ A= ST F 3T H

few v ggzmer F ggE AN @ IR I TR F 3l TS
gee: fiud & U5 & Al F dohld 91g S 3 FT WioAar 82
1. 911 31T &

2. TET §3 W

3. far g3m X

4§‘I’W§3-1TEIT

Correct Answer :-

30) 3 AT S ST A
STET U & W@ § -1 AT
T & I § e e
@rrdr § drhar diae #1 9
@ISrdT § 8T g3 W



3R T 1 @l ger Rt @ and
o o

Y Y wwe a5 faar 1 e @ F $eF w7
U AT gehAfer

INARINF R A

T ) W AT SHAFIAT

7l AT T o @1 §

VA F& ¥C W@ &

75l T F1 s AL

T @ e A et g3 Sl @ gl

S e FT IAT TAHS F @ter §

S @ Fr AT It A Aler €

T I8 39T & e garem @edensit

e g

FT I8 § @ W?

AT 9gd HA § TFER T

3T ST 9T SET 3T T@T HFH

AE JHR A HI$ a1 ST F @ H

T 71T gerer A ygHEt AR qF TR qT G FT 3ca} IATST
yee: aatd Hfa, Uw & e & T g el @ el 82
1. 3Tl

2. AT

3. UheH o3

4. el

Correct Answer :-

Topic:- General English(L2GE)

1) Complete the sentence with the suitable pronouns.

Srikanth was tired of failed businesses so decided to call quits.



1. their, he, them
2. my, we, them
3. his, he, it

4, its, he, it

Correct Answer :-

* his, he, it

2) Read the passage carefully and answer the question given below:

Stonehenge is a prehistoric monument in England. It consists of a ring of standing stones and
archaeologists believe that it was constructed from 3000BC to 2000 BC. Ever wondered why the
Stonehenge was built? People have been puzzling over this for hundreds of years. They have
come up with various answers, some of which are quite wild. Some people think that
Stonehenge was once a cattle pen; a palace, or an altar for human sacrifice. Others believe it to
have been the foundations for the tents of the great roman emperor, Julius Caesar. Today’s
explanations for the Stonehenge and the most popular ones are from science and math. There
was once a man named Alexander Thom who spent many years working on the Stonehenge and
other stone structures. According to him the Stonehenge is a sort of solid math problem. He
believes that the people of the past would have used this to find out measurements of triangles
and other shapes.

What does the word ‘puzz/ing mean in this context?
1. Creating puzzles

2. Thinking

3. Causing confusion

4. Making noises

Correct Answer :-

* Causing confusion

3) Read the passage carefully and answer the question given below:

Stonehenge is a prehistoric monument in England. It consists of a ring of standing stones and
archaeologists believe that it was constructed from 3000BC to 2000 BC. Ever wondered why the
Stonehenge was built? People have been puzzling over this for hundreds of years. They have
come up with various answers, some of which are quite wild. Some people think that
Stonehenge was once a cattle pen; a palace, or an altar for human sacrifice. Others believe it to
have been the foundations for the tents of the great roman emperor, Julius Caesar. Today’'s
explanations for the Stonehenge and the most popular ones are from science and math. There
was once a man named Alexander Thom who spent many years working on the Stonehenge and
other stone structures. According to him the Stonehenge is a sort of solid math problem. He
believes that the people of the past would have used this to find out measurements of triangles
and other shapes.



Alexander Thom'’s perception of the Stonehenge was that it is:
1. A cattle pen

2. A site for scientific discovery.

3. A sort of a solid math problem

4. An architectural monument of great worth.

Correct Answer :-

e Asort of a solid math problem

4) Read the passage carefully and answer the question given below:

Stonehenge is a prehistoric monument in England. It consists of a ring of standing stones and
archaeologists believe that it was constructed from 3000BC to 2000 BC. Ever wondered why the
Stonehenge was built? People have been puzzling over this for hundreds of years. They have
come up with various answers, some of which are quite wild. Some people think that
Stonehenge was once a cattle pen; a palace, or an altar for human sacrifice. Others believe it to
have been the foundations for the tents of the great roman emperor, Julius Caesar. Today’'s
explanations for the Stonehenge and the most popular ones are from science and math. There
was once a man named Alexander Thom who spent many years working on the Stonehenge and
other stone structures. According to him the Stonehenge is a sort of solid math problem. He
believes that the people of the past would have used this to find out measurements of triangles
and other shapes.

Today, the Stonehenge is:
1. A palace

2. A prehistoric monument
3. Atent

4, An altar

Correct Answer :-

¢ A prehistoric monument

5) Read the passage carefully and answer the question given below:

Stonehenge is a prehistoric monument in England. It consists of a ring of standing stones and
archaeologists believe that it was constructed from 3000BC to 2000 BC. Ever wondered why the
Stonehenge was built? People have been puzzling over this for hundreds of years. They have
come up with various answers, some of which are quite wild. Some people think that
Stonehenge was once a cattle pen; a palace, or an altar for human sacrifice. Others believe it to
have been the foundations for the tents of the great roman emperor, Julius Caesar. Today’'s
explanations for the Stonehenge and the most popular ones are from science and math. There
was once a man named Alexander Thom who spent many years working on the Stonehenge and
other stone structures. According to him the Stonehenge is a sort of solid math problem. He



believes that the people of the past would have used this to find out measurements of triangles
and other shapes.

This passage talks about:

1. Alexander Thom

2. Stonehenge as an altar for human sacrifice
3. The measurement of triangles

4. Why Stonehenge was built?

Correct Answer :-

* Why Stonehenge was built?

6) Read the poem carefully and answer the question given below:

Language

A bumbling bee went berserk...

Instead of buzz, buzz, buzzing, went zzub, zzub, zzub.
When asked why this wonderful wonder?

He just haa, haa haaed aloud,

Said, “change is sometimes good to stand out in a crowd!”

A zany zebra zoomed about, zithering here and there
Fell tired and went to sleep with a zzzzzz,

Soon, was up on his feet and zipped about again with a brzzzzzzz.

An elegant elephant empathetically made a solemn elegy,

Then, eccentric that he was, excellently sang it to melody.

A flippity, flappity, floppy fish

Had fine fins and a fiery spirit.

Was bedecked in finery from head to toe
Looked like a floral feature on the ocean floor.
Not to be cowed down, nor bullied about,

He went about all his tasks with zeal and ardour.



The figure of speech in "when asked why this wonderful wonder” is:
1. Simile

2. Personification

3. Onomatopoeia

4, Alliteration

Correct Answer :-

o Alliteration

7) Read the poem carefully and answer the question given below:

Language

A bumbling bee went berserk...

Instead of buzz, buzz, buzzing, went zzub, zzub, zzub.
When asked why this wonderful wonder?

He just haa, haa haaed aloud,

Said, “change is sometimes good to stand out in a crowd!”

A zany zebra zoomed about, zithering here and there
Fell tired and went to sleep with a zzzzzz,

Soon, was up on his feet and zipped about again with a brzzzzzzz.

An elegant elephant empathetically made a solemn elegy,

Then, eccentric that he was, excellently sang it to melody.

A flippity, flappity, floppy fish

Had fine fins and a fiery spirit.

Was bedecked in finery from head to toe
Looked like a floral feature on the ocean floor.
Not to be cowed down, nor bullied about,

He went about all his tasks with zeal and ardour.

The synonym for “berserk” is:



1. Strange
2. Crazy
3. Confused

4. Angry

Correct Answer :-

8) Read the poem carefully and answer the question given below:

Language

A bumbling bee went berserk...

Instead of buzz, buzz, buzzing, went zzub, zzub, zzub.
When asked why this wonderful wonder?

He just haa, haa haaed aloud,

Said, “change is sometimes good to stand out in a crowd!”

A zany zebra zoomed about, zithering here and there
Fell tired and went to sleep with a zzzzzz,

Soon, was up on his feet and zipped about again with a brzzzzzzz.

An elegant elephant empathetically made a solemn elegy,

Then, eccentric that he was, excellently sang it to melody.

A flippity, flappity, floppy fish

Had fine fins and a fiery spirit.

Was bedecked in finery from head to toe
Looked like a floral feature on the ocean floor.
Not to be cowed down, nor bullied about,

He went about all his tasks with zeal and ardour.

“Fiery spirit” describes the fish as:
1. Active, energetic and lively

2. Hot as fire



3. Boring and dull

4. Serious and easy angered

Correct Answer :-

« Active, energetic and lively

9) Read the poem carefully and answer the question given below:

Language

A bumbling bee went berserk...

Instead of buzz, buzz, buzzing, went zzub, zzub, zzub.
When asked why this wonderful wonder?

He just haa, haa haaed aloud,

Said, “change is sometimes good to stand out in a crowd!”

A zany zebra zoomed about, zithering here and there
Fell tired and went to sleep with a zzzzzz.

Soon, was up on his feet and zipped about again with a brzzzzzzz.

An elegant elephant empathetically made a solemn elegy,

Then, eccentric that he was, excellently sang it to melody.

A flippity, flappity, floppy fish

Had fine fins and a fiery spirit.

Was bedecked in finery from head to toe
Looked like a floral feature on the ocean floor.
Not to be cowed down, nor bullied about,

He went about all his tasks with zeal and ardour.

In the last stanza of the poem, the fish is compared to a
1. plant

2. beautiful carpet

3. group of animals

4. flowery decoration



Correct Answer :-
» flowery decoration

10) Read the sentence carefully and choose the option that has an error in it:

When Gopal opened the cage, the parrot came out and perched in his shoulder.
1. No error

2. the parrot came out and perched

3. When Gopal opened the cage,

4. in his shoulder.

Correct Answer :-

 in his shoulder.

11) Fillin the blank with the correct option in the given sentence:
The river appeared --canny to the poet.

1. re--

2.in--

3.ill--

4. un--

Correct Answer :-

12) Fill in the blank with the correct option in the given sentence:

The company used one of its ex-employees as an ______ for the seminar.
1. assessment

2. assess

3. assistant

4. assessor

Correct Answer :-

e assessor



13) Fill in the blank with the most appropriate preposition in the given sentence.
She wanted tobe  friends.

1. across

2. between

3. among

4, below

Correct Answer :-
e among

14) Choose the most appropriate articles in the given sentence.

woman was seen driving away in _____ black car.
1. An, a
2. A a
3. A, an

4. No article required, the

Correct Answer :-

15) Choose the right tag:

Sita comes to school regularly, ?
1. is she

2. wont she

3. does she

4, doesn't she

Correct Answer :-

e doesn't she

16) Choose the option that substitutes the given phrase appropriately.



The rule of a king or queen
1. Democracy

2. Monarchy

3. Plutocracy

4. Despotism

Correct Answer :-
» Monarchy

17) Change the given statement to indirect speech.
She said, "I am listening to music now”

1. She said that she listened to music then.

2. She said that she will be listening to music now.

3. She said that she was listening to music then.

4, She said she would listen to music now.

Correct Answer :-

« She said that she was listening to music then.

18) Choose the appropriate suffix that forms a noun in the given sentence.

The principal gave him a good testimon-- when the boy left school.

1. --1ies
2. --ation
3. --ial
4. --ials

Correct Answer :-
o —-jal

19) Choose the appropriate prepositions for the given sentence:

There was plenty laughter the film sets while the director was trying to bring out
the best the actors.

1. of, on, in



2. of, from, among
3. in, in, for

4. to, at, on
Correct Answer :-
o of, on, in

20) Choose the appropriate antonym for the highlighted word in the given sentence.

Why didn’t you respond to my call?
1. Answer

2. React

3. Reply

4. Ignore

Correct Answer :-
« Ignore

21) Choose the appropriate conjunction for the given sentence:

I faced difficulties I was successful.
1. but

2. and

3. which

4, that

Correct Answer :-
o but

22) Choose the appropriate option that rewrites the given sentence in its passive voice.

Assam grows Tea.
1. Tea is grown in Assam.

2. Tea is being grown in Assam.



3. Tea is grown by Assam

4. Tea has being grown in Assam

Correct Answer :-

e Teais grown in Assam.

23) Choose the appropriate tense to fill in the blank in the given sentence:

Grapes well in tropical climates.
1. don't grows

2. did not grew

3. are not growing

4. doesn’t grow

Correct Answer :-

e don't grows

24) Choose the appropriate synonym for the highlighted word in the given sentence.

After a few years of romance, the courtship between the celebrities faltered.
1. Fluctuated

2. Became stronger

3. Flattered

4. Grew weaker

Correct Answer :-

o Grew weaker

25) Choose appropriate articles for the given sentence:

It was dusk by time we reached Cape Town, one of most beautiful of world’s
cities.

1. a, the, the
2. a, no article required, a
3. no article required, the, the

4. the, no article required, the



Correct Answer :-
« the, no article required, the

26) Choose an appropriate modal for the given sentence:

Our competitors be mistaken if they think our supervisor is going to join hands with
them.

1. ought to
2. should
3. may

4. must

Correct Answer :-
e must

27) Choose the option that best explains the highlighted expression:

We had a ringside view of the boxers because our seats were three rows from the ringside.
1. A place very comfortable to obsequies the actions of the play

2. Clear, uninterrupted view

3. An area ringed around for special purposes

4. A closer look at the stadium

Correct Answer :-

o Clear, uninterrupted view

28) Choose the option that best explains the highlighted expression:
Some people have a habit of wearing their heart on their sleeve.

1. exposing their innermost feelings to others

2. saying something which is not to be taken seriously

3. always trying to gain advantage over others

4. avoiding being friendly with others

Correct Answer :-

« exposing their innermost feelings to others



29) Choose the option that best combines the given sentences.

He finished his breakfast. He washed the plates.
1. He finished his breakfast and washed the plates.

2. He having finished his breakfast and wash plates.
3. Having finished breakfast, the plates were washed.

4. He was being finished his breakfast to wash the plates.

Correct Answer :-

» He finished his breakfast and washed the plates.

30) Choose the option that best transforms the sentence into its Indirect form:

“What shall I do next?” the little boy asked his mother.
1. The little boy told his mother what he should do next.

2. The little boy asks his mother what he shall do next.

3. The little boy said to his mother what | should do next.

4. The little boy asked his mother what he should do next.
Correct Answer :-

* The little boy asked his mother what he should do next.

Topic:- Science (SCI)

1) The frequency of wave produced from a device is 50,000 Hz . It is equivalent to: /
TF IF @ Scdrad a<er dr AR 50,000 & (Hz) 81 I8 et & WA o
1. 5kHz / 5 frdged

2.50kHz / 50 foragest

3. 500kHz / 500 fheligcst

4. 5000kHz / 5000 fordiges

Correct Answer :-

. 50kHz / 50 fPargeS



2)

The following are the pH values of some commonly known solutions:

Substance. pH value.
Acid rain 5.6
(Gastric juice. 1.0
Lemon juice 25
Tomato juice 41

Which one of them is the most acidic? /

faFafoafad oo wa faeaal & pH AW &

geref. droer AT
37FeT ur 5.6

A 9 1.0

ofig & | 2.5

THATER &7 41

S T Hi-AT Had Atd e 87

1. Acid rain / 37l g
2. Lemon juice / a'-ﬂﬁl'\ T ™
3. Gastric juice / JTHRI &

4. Tomato juice / THTCI I TH

Correct Answer :-

 Gastric juice / THART T

3)
The given distance—time graph shows the motion of two motor bikes X and Y along a straight

road. Which of the following statements is wrong?

&z mar glr-awg o% vF d=h §5% & | g1 Aex 95& X AR v & 9 @+v
geltar ¢ Se=atafaa § § slaar Fa= 7eg &2

distance
Y

¥

time
1. X takes more time than Y to cover a particular distance. /

T fAfRad gt & a7 #T & fav X &1 Y & 3486 §71F o9rar g

2.'Y takes more time than X to cover a particular distance. /



T AT gl & 7 T & AT Y & X & 38 AT 91T g

3. Bike X covers more distance than Y. /

915k X, S5k Y I 39T iU gt a7 L g
4. Bike X moves faster than the Bike Y. /

g5 X, 9155 Y v 379eT 310 A gl

Correct Answer :-

« X takes more time than Y to cover a particular distance. /

U AREd gt A a7 FA & faw X &1 Y @ 3176 G747 o g

4) In the aquatic food chain consisting of crane, phyto planktons, tadpoles and fish , the
position of crane is: /

ST @ed ’!FEIT»IT fS9H WRA (F), IS TdaF (phyto planktons), el 3R FAG
g, o1 &1 Rufa -

1. I trophic level /1 GifScahdr TaX
2. 11 trophic level / 11 Qf¥e&dT TR
3. III trophic level / III Gif¥edT TR

4. 1V trophic level / IV QIfPehdl TR

Correct Answer :-

« 1V trophic level / IV QIfPehdl &R

5) To teach diverse, difficult to understand concepts in science, a blend of text,
audio, animation, video, still images or interactivity content forms can be used.

This method is known as: / fJdaieT & fafaer, gasa & e quROM3T Hr
qei & faw, eFee, 3fea), viaders, ifza), ux st & &wor ar

e foramelierar Rwg-aeq wt &1 3v@er o1 @Far 31 5@ Ry«
gl AT §:

1. Information and technology communication enabled learning / AT IR

e §uR et e
2. Multimedia approach / HeciHI3ar gfeeahioT

3. Documented problem solving / Tl ld GHTIT-GHATYT
4. Video clips /?ﬁ%ﬁ[@m



Correct Answer :-

. Multimedia approach / HSCIAITSAT TTSCHITT

6) The focal length of a convex mirror in air is 15 cm. When it is immersed in water, the radius
of curvature of the mirror will be: /

ag # wF 3qd quur @ AT F«1$ (focal length) 15 @l ¥1 1@ 3& ot F gamam
ST &, a9 & ashar 1 BT gei:

1.30 cm/ 30 9Ht
2.7.5¢cm /7.5 99
3. 45 cm / 45 99T

4,15 cm / 15 39

Correct Answer :-

« 30 cm/ 30 QH

7) Lightning conductor is a device used: /
afsa gres (FEefAIT FsFe) THh YRV T STIATA fhAT AT §:
1. To protect the buildings from the effect of lightning /
SARC! & dfsd & 99T & s & fov
2. For communication purposes /
IR JArsEr & fau
3. For forecasting the forth coming lightning and thunder /
AT df3d 3R GER (UST) & GaTAT odllel & ferw

4. To store the electric charges produced at the time of lighnting /

dfed & THT Ianfed fagyd I &1 Tufed B & forg

Correct Answer :-

 To protect the buildings from the effect of lightning /

SARCT & dfsd & 99T & s & fov

8) Which of the following contains more roughage? /

fafaf@a ¥ fFad 3f®F AT IRT (roughage) fAfeT grar &2



1. Fish / H&dl
2. Milk /g
3. Leafy vegetables / TR Ifedar

4. Meat / Ay

Correct Answer :-

« Leafy vegetables / UxIGR gfesar

9) Sethu felt more cold on a metal plate than on a wooden table when she placed her hands
on them because: /

VG F U] & T W dhg! HT AT T Joem H HUF 337 AgHH §I 5 38A
9 FTUT N I W 1@ FMP:

1. Wood conducts more heat energy than metal plate. /

Y, UId & Tl T Jolell A HF FAT Fall T Heloled HLA g

2. Her body temperature is less than the temperature of the wood and greater than that
of the metal plate. /

IYP IRR FT dAUHA Ah el &b dlaHH I HH 3R U1 & @e J 3HF g
3. Wood is more hotter than a metal plate. /

b, YT Bl We & ga H e 7 B B

4. Metal plate conducts more heat energy than wood. /

4T & We, Adhel &I a1 & SHfIFH HHT SHoil BT JaTa Bl g

Correct Answer :-

« Metal plate conducts more heat energy than wood. /

UTd & Wic, Ahe! &I Ja-T § 3w ST SHoll BT Tare el g

10) Proteins that regulate all chemical reactions of the body are: /

WA S R Fr w3 raafas sfRfeaEd & Aaha &= §
1. Blood / T

2. Lymph / ST&eT

3. Hormones / gi#Af

4. Enzymes / TSITSH

Correct Answer :-



« Enzymes/ TSITSH

11) Which of the following motivates a learner to learn? /| A&ifaf@a &
¥ Fia-a1 AT F AT v RNawft F NG Far 22

1. Interest in the topic / fawT & ¥fr

2. Repay / ar9d &¥ar (R)

3. Lots of homework / 3Tca {8 ?(Ifqﬂ'ﬁ
4. Easy questions / 3THTeT HdTel

Correct Answer :-

« Interest in the topic / Taw # ¥

12) Kelvin is the unit of: /
Ffeaa gt 5918 &

1. Pressure / qaId

2. Temperature / dAT9ATT

3. Heat / 3®AT

4. Humidity / 31T

Correct Answer :-

o Temperature / dATIHTeT

13) Automobiles use Batteries (Series of cells) to supply electrical energy for the functioning
of the vehicle.

Which one of the following acids is used in such Batteries? /

FSAEST e F FHFS & AT Rega st A1 aqfd F & v FRIF @«
# @) F AT FA F

50 AR & deRaAl & AT & @ Fia-ar e F1 y@9r FAr Jar €2
1. Phosphoric acid / BIEhIR® 37Fel
2. Acetic acid / TfAfew 3Far

3. Hydrochloric acid / gI8giFeilieh 31Fol

4. Sulphuric acid / H(*l—l—?«l‘j\{dv &




Correct Answer :-

« Sulphuric acid / H(v'-ré-lc\ﬁch 3Tl

14) Choose the incorrect statement among the following. /
farafaf@a & @ 30T FaaT F7 997 W
1. Metals are electropositive in nature. /
T yfd 7 faggd ueieds gid ¢
2. Metals are sonorous in nature. /
aTg TSfa 7 e @l ¥
3. Metals reacts with dil. acids to produce hydrogen gas. /

BISSIolel 31 &l 3cUleed %el o AT UV ofe] 37l & H1Y JATAThAT L Bl

4. The oxide formed when metals reacts with oxygen, turns blue litmus to red. /

SIS S JieFdIsTel & @Y JAHAT Fchr g, I 3rargs 1 AT gien g1 o
el &7 FT foledmd ol 8 ST &

Correct Answer :-

 The oxide formed when metals reacts with oxygen, turns blue litmus to red. /

SIS e JieFdIstel & Y JAHAT Sl §, I 3Farss 1 AT gier g1 e
sirel 397 T Toled T ol & ST &

15) Identify a non-metal which has metallic lustre: /

3 IuTq @ ggHe HY, e aifcas T gt @
1. Phosphorous / BIEHRY

2. Iodine / HTAETT

3. Sodium / HIfSTH

4. Sulphur / eI

Correct Answer :-

o lodine / 3TAET

16) The device fitted with an automobile to show the distance travelled by it is called: /



aee @RI AT Y wE gl F g & v w77 w1 fre R S 8,39 war
ST &

1. Speedometer / TATBIHICT
2. Odometer / 3NSIfAeT
3. Lactometer / ol&FclHIET

4. Hydrometer / gT331HICI
Correct Answer :-

« Odometer / 3N8IfAET

17) The magnitudes of the power of two lenses are 2D each. One of the lenses is convex and
the other is concave. If the two lenses are kept in contact, then what is the focal length of this
combination?

al ol F F Y AF & uTa’ HT IRATOT 2D 1 o6 F F v 39 § 3R g sraqer g1 I QY
o & HIF H W@ I §, A 36 GO A Bihel oar$ Rhereil g2

1. Infinite / 3Tec

2. Zero / e

3.4

4.2

Correct Answer :-

« Infinite / 37

18) The credit of green revolution in our country goes to: /
gAR & # gRa Fifa &1 A7 v §:

1. Dr. V. Kurien / 8. Y. ifﬁ?lﬂ'

2. Dr. H.G. Khorana / 3T, TSI, @R

3. Dr. M.S. Swaminathan / 3T. TH.UH. EATHIATAT

4, Arya Bhatta / I HCC

Correct Answer :-

« Dr. M.S. Swaminathan / 3T. TH.UH. EaTHIATAT



19) The magnetic effect of electric current was first observed by: /
e 4T & Iy ToITa Y FAWYA Feveh SR A& o arar o
1. Andrew Ampere / U?Aa?{ TFIRR

2. Alessandro Volta / TelHgl dleel

3. Hans Christian Oersted / =& fpieaaer 3NEEs

4. Michael Faraday / #TSehel TS

Correct Answer :-

« Hans Christian Oersted / 8§80 frfdaaer 3NEs

20) The strength of the sea breeze depends on: /
FHAT gaT HT yasar 39 W Al et &

1. The temperature difference between the land and the ocean / 3{\@' 3R g & d9ATT &
9T & HR

2. The direction at which it blows / 38 &gel @l TG T

3. The level difference between the ocean and land / H?fl;d kg 3-]\'@' & T & O & JAN
°r

4. Amount of water vapor present in the atmosphere / dIdldRUl e Iﬁq’q’ SREINEIRIEIRT

Correct Answer :-

« The temperature difference between the land and the ocean / 3{% 3R qHG & dIIHAT &
9T & AR W

21) The power of earthquake is expressed in terms of : /
ST Y T Y cuwd i aeh §:

1. Kelvin scale / dhfeds Thel

2. Celsius scale / Qfcaad Fhel

3. Richter scale / ReFeT Tl

4. Romer scale / JFAT Thel

Correct Answer :-

« Richter scale / ReFeT Thel



22) An electrical cell has: /
F faega ¥ # g
1. Three terminals / e iAo

2. Only one terminal / shdel Teh cfaieTol
3. No terminals / EFTé’ cfiTeT Tar
4. Two terminals / & &f&eTel

Correct Answer :-

« Two terminals / &r Ar: Gl

23) An element ‘X’ has 4 neutrons and 3 protons. Identify the correct valency of the
element. /

TF dcd X' H 4 Fggiar AR 3 wield §1 dca F A GASRar A ggaT
1.4
2.3

3.2

4.1

Correct Answer :-

24) Pick the odd one out. /

& v g

1. Air / gdT

2. Mixture of sugar in water / GTeil 3 QUeFnY ohl fHSOT
3. Mixture of oil in water / 9Tl # ol T THEHOT

4. Cold drinks / &t 93

Correct Answer :-

« Mixture of oil in water / 9Tl & deT ST TASOT

25) When the force is doubled and the area is halved, then the pressure will: /

99 g QN[ Y e Strar @ 3R &Awe amear w R S g, ot g



1. Be doubled / SHI=IT g1 ST

2. Become one fourth of its original value / 379el AREATdeh HIT T Th TIATS & S

3. Become four times its original value / 3T9s1 dREdideh AT HI AR et g ST

4, Be halved / \’rﬂ%ﬂ@ SR

Correct Answer :-

« Become four times its original value / 39«1 AIEATdeh Al & IR edT g ST

26) When a paste of starch is added to boiling water, the type of system formed is: /

g AT (starch) HT TH IEC 39dd I H STT SATAT &, dl SoTed dTell YOIl &1 YR
&

1. Colloidal solution / PAEST AT

2. Suspension / folelaeT

3. True solution / IIEATAS AT

4. Dilute solution / el IEREG

Correct Answer :-

« Colloidal solution / lellSsel faera=

27) When carbon dioxide is dissolved in water, the solution turns v

9 FEA SEATFAES U A gor e g, A faoraer qgera &l

1. red litmus to blue / &Tel Toledd T #ATel 7

2. blue litmus to red / ATel foledd &l ol &

3.no change in the colour of litmus / foecd® & W & #s gRad= gl
4.into a yellow colour with methyl orange / A&l 3T & T Gl T[T H

Correct Answer :-

« blue litmus to red / siter foleH T & oTel &

28) Which one of the following is the appropriate unit which is used to measure the volume
of Refined oil taken in a container? /

fmafaf@a & & sla-ar sugsa s ¢ ower gahr & ao & aRsga da i amE
F A F AT R ST §2



1. Kilogram / Tereltarmsr
2. Nanometre / sleil#HTIeT
3.gm/L / IH / X
4. Litre / &lX

Correct Answer :-

« Litre / olleX

29) Which of the following is not a shell fish? /
rfaf@a & ¥ Fla-a1 Faaurdy AS (shell fish) 5T &2
1. Crabs and bobsters / shehaT 3 Sig¥el

2. Mrigals / #3mel

3. Oysters / 38T
4. Octopus / 3iT&Ferqd

Correct Answer :-
« Mrigals / HITeT
C

30) Which of the following is an example for diffusion of a solid into liquid ? /
i@ # & F9-91 39 FT R & TR FT TF 3EEIT 8?2

1. Ink into water / 9= & TIT8r

2. Carbon dioxide into water / GTalY & HIeeT SISIHTFIASS

3. Oxygen in water / 9Tl 3 3iTeFdiete

4. Copper sulphate into water / UTsil & HIIX Tohe

Correct Answer :-

« Copper sulphate into water / 9Tl H PO Tothe

31) Which one of the following solids is used as a drying agent in bottles containing medicinal
tablets? /

frafaf@a & @ frw o &1 walhr sty At a@ daat # oF @S T FRA F T F A
ST 82

1. Calcium carbonate / Ficaaa F&fac



2. Sodium hydroxide / ®fSIA FTSglFASS
3. Quicklime / TSI AT
4, Silica gel / fafoe e

Correct Answer :-

« Silica gel / faforT Srer

32) What kind a learner is a child who seems to learn best when carrying out a
physical activity related to the subject? / 9§ S=dT f&® i &1 fRramedt gar
g o fFelt Rve & wafla siifas $1&F F1 Fd gr Tow 3eoT da@dqr g2

1. Visual / T2F (Ta[37eT)

2. Aural / FOT (3R

3. Kinesthetic / IITAAAET (FISATATCH)

4. Reading/writing / Ioet/ot@el (RTSaRTSEM)

Correct Answer :-

. Kinesthetic / IITATAET (FTISATATR)

33) The chemical name of washing soda is: / G FYST FT IS ATH

g

1. Sodium carbonate / TITSIH FIafic

2. Sodium hydrogen carbonate / 3T gIS3IoTe] dIElc
3. Sodium hydrogen sulfate / @%ﬂq 6|$§\|\51"| ‘{-IQ":I')C

4. Sodium sulfate / TfSTH Jebe

Correct Answer :-

. Sodium carbonate / TZIH FEfac

34) Which of the following are the objectives for science education at higher
primary (V, VI, VII) level? / 3T WAT&® (V, VI, VII) TaX & &1
Refiat & v Afaf@a & & sla & 3T 2

1. Observation, induction and deduction. / AT8I0T, 3TRTAT 31X A9THT



2. Knowledge, comprehension and application. / 31TeT, §H8T 3R 3-17:ID'§|'€I>I?T

3. Receiving, responding, valuing and organization. / 3Tf®antedr, gfafshar,
Hodiehel AR HITSA

4. Receiving, responding and valuing. / 3IT&3amgr, afaferar IR ?FI(\F"JI'IW

Correct Answer :-

. Knowledge, comprehension and application. / 7TeT, §HsT 3R 3-1?-;I,'§|'€I>I?T

35) If the momentum of a body decreases by 20%, then its kinetic energy will
decrease by:/

I T I FT AT 20% G AT 8, A WS Afdar Foll HA g1 STCar:
1.40%
2. 18%
3.36%
4. 8%

Correct Answer :-

+ 36%

36) Which of the following cannot be used in mixed cropping? /
fArafaf@a & & Fasr g AT saa & 7 far s awar 82
1. Ragi+ mustard / IET + TX&ET

2. Wheat + gram / 91§ + Tl

3. Wheat + mustard / g + &&t

4. Soya bean + pigeon pea / A€l + 3REI I Glol

Correct Answer :-

. Ragi+ mustard / I + &@r

37) Tracking the learning process during the instruction period is

which type of evaluation process? / 3ifRTH ufspar &1 fAd=r sraftr &
R ¢F BT fhd UBR B eI iehaT g2

1. Formative evaluation / 3ira=nies W



2. Summative evaluation / JN3IMcHS H\FQII'IT:I'»T-I'

3. Placement evaluation / FdTelel H{\?II'IEI'T:-I'

4. Diagnostic evaluation / I-® JedidhH

Correct Answer :-

. Formative evaluation / 39=Res H‘\FCIW

38) Curriculum is a complete plan for of educational aims. /

AMurE TN F ¥ fiw ureuswH Te gl G B
1. implementation / HRATeaTeT

2. understanding / HHAS

3. evaluation / H\?JIW

4. visualization / heddl

Correct Answer :-

. implementation / SRATEaTT

39) Crop rotation is a practice to grow on the same field. /
I TG (Crop rotation) T &1 daH o IUSTH $t ufehar B
1. two or more crops together/Z‘\T gr ar ¥ 31 wEd U iy

2. two or more crops in definite row pattern together / ATad ufdd Yead & af a1 &y ¥ 3™
B Teh I

3. all the above / IURIaGd g+

4. a leguminous crop between two cereal crops/?fl' 37ATST aTell BHAT & ST Ush HoleX ol

Correct Answer :-

e a leguminous crop between two cereal crops/Eff 3T dTell Bl & T Teh HelgR

40) One of the statements made about consumers is incorrect. Identify the same. /

IuHIFTS & JaY § TPp HYF TAd 8| STP! Ugad B |
1. They cannot manufacture their own food./a 39 AT T fAATOT F@' FX ohd|



2. Chemical energy is obtained from outside./{l{-llqmch ol dlgY ¥ 9red d %I

3. They do not have chlorophyll. / 3a7& 9TH YUIgRd FaRITh) oIl aidT &)
4. They take in CO, and give out 0. / O CO, Ugll Hd & Ud 0, Jed gl

Correct Answer :-

« They take in CO, and give out 0. / d CO, UsUl Hd & Ud 0, Jed gl

41) One of the processes that involves the consumption of CO5 is: /
CO, @I @ud # XMfHa uferarsi & & o &:

1. Forest fires / STl P 3T

2. Photosynthesis /| UDIR[ TRHUT

3. Respiration / I

4, Combustion of substances / W?ﬁfﬂ !

Correct Answer :-

 Photosynthesis / UhIR] REGLY]

42) What is meant by intervarietal hybridisation? / '&"E’?ﬁ'ﬁ'ﬂﬁ HDHI0T (m
eTsfafeamm) o1 o orf 22

1. Crossing between different genera / [aTeed SIeRT & & SPITRAT
2. Crossing between different varieties of plants / Tl &7 fRea-PeaT freAr & ST HQer
3. Crossing between genetically dissimilar plants / 3TdfRI% U I SHH N & o IR

4. Crossing between two different species of the same genus / T& &I SIHY & &l 49-fa gefaal &
ClEEQIRI

Correct Answer :-

« Crossing between different varieties of plants / gl fr fPea-fPea vt & i FHifdar

43) what is the literal meaning of the word “Science”? / "ﬁsﬂq" e BT UM h
3 Far 82

1. Experiment / 93197

2. Knowledge / 3TeT
3. Wisdom / e fererar



4. Logic / do
Correct Answer :-

« Knowledge / 3TeT

44) Three resistors of 12 ohm each are connected in parallel. This combination is
connected in series with a combination of two resistors of 3 ohm each in series. Find the
net resistance of this circuit. /

muaﬂﬂ(ohm)%muﬁﬂwmw#sﬁg@%lwmmﬁ
yed® 3 3 & o ufadul & TS F w1 A@en # 31 g § 59 IRT F ey
gfaier g

1.10 ohm/ 10 3fiH
2. 5.5 ohm / 5.5 3fiH
3. 42 ohm / 42 3iH

4. 15 ohm / 15 ¥

Correct Answer :-

« 10 ohm/ 10 3iH

45) Ability to define an event in one’s own words and language is an indicator of : /

?ﬁﬁﬂﬁﬁ%mmﬁeﬁvwﬁvﬁmmﬁaﬂ&mmww

1. Providing explanation / TISEIHIUT YSTeT hladl
2. Communication skills / HIR @Ierel

3. Value/Attitude / Ged/g-Ighd

4, Experimentation / 9aNT

Correct Answer :-

. Communication skills / TR hiereT

46) The blackish material of vegetable origin formed by carbonisation under the surface of earth is: /
gedt Y Fde F AT Faaa qanr Affa gaeafy g f FE gwad w1 oaw P

1. Charcoal / TRehlel

2. Coke / &I



3. Petroleum / dgIferae
4, Coal / &IIeT

Correct Answer :-

e Coal / e

47) The near point for a normal eye is at a distance of: /

TS 9 A7 & g e fig 91 gfi @
1.30 cm from the eye / =51 4 30 I
2.20 cm from the eye/eﬁﬁ 20 Tt
3.25cm from the eye/ﬁﬁ@[ 25 I

4.23 cm from the eye / 99 ¥ 23 IHt

Correct Answer :-

« 25¢cm from the eye / 99 ¥ 25 I

48) In accordance with Dale’s Cone of Experience, which of the following media can help
a student to retain about 30 percent of his learning experience? / A & B 3ATH

TG & gER, fAafifad & @ #1991 a1eay T B &1 9@ R 3rgud
¥ 30 wfa=a &) ufaenia &1 & Heg Y ST 82

1. Youtube / J&Jo
2. Orkut / 3iR&e
3. Google Plus / 3[aTeT TordH

4. Radio / 22w

Correct Answer :-

« Youtube / JId
as a

49) A doctor uses a for examining the ear of the patient. / U

STdex N & B B &id HI1 & o€ T &1 UGN HdT 2|
1. concave mirror / 37ddel &UUT
2. concave lens / 3Tadel ofF

3. convex mitror / 3deT &UUT



4. convex lens / 3deT o

Correct Answer :-

. concave mirror / 3dddl &UuT

50) The two forces acting on a body which is floating in a liquid is: /
TF a Uard § aRA aTell avg IR HTH $HR- arell gt 99 3

1. Buoyant force and frictional force / 3ctelldeh &l 3R °avuT g

2. Gravitational force and buoyant force / W e 3R 3ccards do

3. Gravitational force and frictional force / W gor 3R g9 §a

4. Buoyant force and centripetal force / S&dIdd dc1 3R HfF=fia 9

Correct Answer :-

« Gravitational force and buoyant force / WW ol 3R 3ccaras ao

51) The characteristic which helps us to distinguish one sound from another
sound having the same pitch and loudness is ./

faivar g < g 9 U ofik g W &1 S8 a1d U9 af+ &l 3=
@G ¥ 3R Uga=H H Heg Hdl ¥l

1. velocity / IaT

2. amplitude / TATH
3. quality / IToTadr

4. frequency/ &Hqﬁ{
Correct Answer :-

« quality / ToTadr

52) A body of mass ‘m’ is moving with a velocity ‘v’ along a straight line. If the
mass and velocity are doubled, then find the ratio of the final kinetic energy
to the initial kinetic energy. /

S 'm' 31 TP a3g a7 'v' & 1Y T Wi 391 & qHiaR 3mt deadt 21 afe
ST 3R A7 B ST B {341 S1aT &, at Sifaw fast St iR smfie fas Set
BT JUTd JTd P

1. 1:8



2.4:1
3.8:1
4, 1:4

Correct Answer :-

o 8:1

53) The pitch of the sound is determined by: /
tafy $t g g9 grT Auiia o s &:

1. Amplitude / JTITH

2. Intensity/ dradr

3. Frequency/m

4, Loudness/ Ideldrl

Correct Answer :-

« Frequency/ 3TTgfd

54) The derived unit of the physical quantity, which is the product of mass
and acceleration is: /

Wfa® AT F1 g IHTE, Sl FoqHT 3R @R BT UG 8:
1. pascal / YT&hel

2. newton / =g el

3. joule / Set

4. watt / dic

Correct Answer :-
« newton / gcel
55) What are the food requirements of dairy animals? /

3 uxpan @Y W SraRgS A @ 32
1. The feed should include roughages and concentrates in balanced amounts /

Qg H AT IRT G ANMGT Ud Hlsiell Hferd JET H gl

2. Fresh green grass /




CISUIERRCIR)

3. Mixed feed containing dry grass, grams and other roughages /
TE N, T 3R 3= Hiel IR1 gad fAifSd @re

4. Nutritious feed with additives /

AT & 1Y YN aTe]

Correct Answer :-

» The feed should include roughages and concentrates in balanced amounts /

Qg H AT IRT G A1MGT Ud sl Hferd JET 1 gl

56) A teacher always introduces the concept of atoms with the same

example.This shows he did not consider: / T& R1&/% GHTIT TP Bl ISTEIVT &b
1Y YRHTLS{ Bt SGURT &1 U=y a1 g1 I8 feamar 8 & s A w
ICEIE T-I?)fﬁﬂﬂ

1. His/her student's previous knowledge. / 396 B & Usd I

2. The new facilities available to him/her. / 38 ToIT a_-l'é' Hij;q’ﬂ'l'@'u 3Tl %I
3. How to update his/her knowledge?/ 31TeT <hl S usc fhar s

4. How to keep all the students attentive? / T BTET Tl T W2

Correct Answer :-

« His/her student's previous knowledge. / 396 IHF & S M4

57) Which of the following can be used for making students independent

Iearners?/mﬁﬁmmﬂmﬁaﬁw&&ﬂﬁﬁﬁ%m
foar <1 9@ar 82

1. ICT resources / 3TSEIET TATET

2. Assignment with long answer based questions / Srer 3T 3TETRA U1 &
iy T I ar R (ISHHT)

3. Quiz / YA
4. Group discussion / QTI?:I‘% GBI

Correct Answer :-

« ICT resources / 3TSHIET AT



58) Since 2014, T.B. related deaths were very uncommon. What does T.B. denote? /

a¥ 2014 7%, et HEfa AT aga IR O A g & R PeRa awar #7
1. Tetanus bacteria / 2= SR

2. Taeniasis / SfATAT (ST3ATAH)

3. Tetanus toxoid / ¢cad cIFaIgs

A N

4. Tuberculosis / J&HT (TS hIlTHH)
9

Correct Answer :-

59) A teacher discusses the difference between textbook theories and current
ongoing research on the same subject. This shows that: / T faTe T &
fvr W greagEas F Rguat 3R adde & 99 ®@ Ny F T Faw
w T Fer § qE e & R

1. Science is tentative / [a3TeT, THTIAT &1
2. Science is interdisciplinary / faare, 3y Avas ?u'l
3. Science is rapidly expanding / [a<1eT, Aol & fa&dR & @T £l

4. Science promotes questioning / O, Farer e F dorar ¢dr %'I

Correct Answer :-

« Science is tentative / T3, FATAT &1

60) Which of the following does not reflect features of a well-developed learning
objective? / AFIfaf@d & & FlT & 3= g ¥ _AelAd rftewH
3¢ T frAwansit # yhe AE Far §?

1. The teacher holds tests regularly. / f8Ter fafAT ¥ & qder amAfaa
AT &

2. The teacher performs an experiment before the beginning of a topic. / T1&TH

foreiy fawar T @3 & Ugel Teh YANT HIAT ¢

3. The teacher explains a law and their uses. / freTeh Teh AIH 3T 3T 3T
I SITEAT LT ¢l



4. The teacher uses a mix of English and the local language in class. / T1&T& e
F 3 AR TR AT & fRAOT T 3T FAT B

Correct Answer :-

. The teacher explains a law and their uses. / [1&T& T AT 3R 39 39IIeT
ST SITEIT T gl




